SET1
Q1. The modern atomic symbols were proposed by
S AT Udias fads gRT TRdTiad fhu e &7

A. Dalton /sTeed

B. Lavoisier /@aifaitR

C. Berzelius /sifaog

D. None of these /&8 T &I$ 48T

John Dalton devised the first atomic symbols, but they looked a little different from the ones

we use today.
S STee 3 Ugal WRHTY] Ud1h! T SMMASHR fHar a1, Afd d 3t g0 gRT 3UNT fbu o are @it &
ST 31T fazad o

@ Hydrogen O Carbon O Oxygen
® Phosphorus @ Sulphur @ Iron
@ Copper @ Lead @ Silver
{(:i} Gold @ Platina {:) Mercury

Symbols _for some elements as proposed by
Dalton

Q2. Who gave the law of chemical combination?
TG Tate &1 gy feaa faar?

John Dalton /ST gTeed

Lavoisier /aaiforR

Proust /gi&

Democritus /SHifded

o0 w®>

This law states that if two elements combine to form more than one compound, the masses of
these elements in the reaction are in the ratio of small whole numbers.

This law was given by Dalton in the year 1803.

Tg fAam Fgar @ & afe &) a9 e ve @ 31fds giffte sma €, Y ufafesar & 5 at &1 gogar widt guf
T3t & Irgard # g1 &1

Tg g STee 7 97 1803 # faar )

Q3. The indivisibility of atom was proposed by
TRHATY] T JfAUTSTdT &7 Y19 fhad gRT faar mar ar?



) Einstein /3mg&EsT
b) Bohr/@&

) Rutherford RR®IS

) Dalton /3Teed

Dalton hypothesized that the law of conservation of mass and the law of definite proportions
could be explained using the idea of atoms.

He proposed that all matter is made of tiny indivisible particles called atoms, which he imagined
as "solid, massy, hard, impenetrable, movable particle(s)".

ST o URSeaAT Bt 1 goqa & WRewr & Fad ik Afgd sgurd & 1w & st & fa9r o1 g
RS THETIT ST TSHT &

I TRt e f Tt gare ATy AHe B Sfavey Suil A 3 & €, O 3 "3, gard,
FHOR, VeI, Il BT (37)" & FT | ST dr oY

Q 4. The fundamental particles that composed on atom are-
RYTY] TRET & AT 0T &
a) Proton, electron, meson / WiciH, Saagid, A
b) Proton, electron, photon / WIgH, Sadag ™, HBIcH
c) Proton, electron, neutron / WICH, Solagid, g
d) Proton, electron, deuteron / WciH, Sdagi, SIcH
The fundamental particles present in an atom are electrons and nucleons (protons and

neutrons).

RATY] H HIS[E HeAYd HUT saae= 3R Gfdeai= (det= 3R gg) gl

Q 5. Nucleus of an atom consists of.

T WRYTY] & 10 # 84 &

a) Proton / ieiq

b) Neutron / =ggiq

c) Proton and Neutron / UIci< Ud =ggia

d) Electron, Proton and Neutron / Soidg, Wi doT Y@

Atomic nuclei consist of electrically positive protons and electrically neutral neutrons. These

are held together by the strongest known fundamental force, called the strong force.

RATY] A1 B g aaTeres UielT il fagd ¥u & 9oy <giv 81a 81 =% e Uolqd J1d Hifdid g gr
Ueh TTY 3T ST 8, O Tolgd ST HaT ST 2



Electron

Q6. Which of the following particles is negatively charged?

7 O o9 Fomafa For g?

a) Proton / Tiigiq

b) Neutron / =ggiq

c) Positron / Tifale™

d) Electron / saag

Thomson discovered a negatively charged particle, called the electron.
ATHIT I TP RUMTHS MAFAT HUT HY [T &Y, TS e HaT ST 8

Q7. Rutherford’s Ol-scattering experiment related to the size of the-

IEBTE FHT OL-FH0T YHOH TN ..........o.. T IMHR T TEIAT B:-

a) Nucleus / 1f9&®

b) Atoms / TRHTU[

c) Electron / soiaed

d) Neutron / =ggi=

Rutherford scattering experiment is related to size of the nucleus. Rutherford defined that an
atom consists of a large space where (- particles pass through, but only at a small region they
are deflected. This region is nucleus.

IERBTS ThTUTT TINT TR & HATHR J AT 81 IRBIS I TR fhaT o T THTY] § Ueb 37 AT Bl
2 78T @ o- HUT ToRA €, AT Fad s B T 87 # 3 Ada §1a &1 vg &7 71w 2

Q8. The antiparticle of an electron is
goae i o1 favreft T 8:-

a) Positron / gifaeia

b) Proton / Wi

c) Alpha particle /Te®hT HUT



d) Beta particle / steT &ur

The positron is the antiparticle to the electron. The positron has the same rest mass (mo0) as the
electron but opposite charge, one positive elementary charge.

UIfSIeT Saae i o7 Ufdeur &1 Uifaiei § Sdeld & THT 3IRTH godd T (mO) &idT &, aife faudid Imef, T
THRIHE URMAS I15f g1 2B

Q9. Which orbital is dumb- bell shaped?
B A FEH STATHR &1 872

a) s-orbital

b) p-orbital

c) d-orbital

d) f-orbital

2 dzp2

Q 10. Muddy water is treated with alum in Purification process-

v wmafas sifafthar grT eaee ar & fheddt gRT S fvar Smar 872

a) Coagulation / ¥&ed

b) Absorption / 3faenyor

c) Emulsification / aratasor

d) Adsorption / srfareiwor

This type of spontaneous destabilization of solution is ageing process. It in turn also
destabilizes the solution by the artificial means, which is called coagulation. Alums also do this
process and hence purify muddy water by coagulation

TUTYTE 6 §T UHR & Teol STWRAT IU Fg= 6 UfthaT 8| 78 geat d 37 ada! & oe & off sk &=
a1 &, fo STae FeT STt 21 e Y 33 uftsar o axedl € 3k safow Aar o= & 5w B g AT

Q11. Atomic size is of the order of-



b) 10™°cm

c) 10 cm

d) 10°cm

Atoms always have an equal number of protons and electrons.

Atomic size is in the order of 10° cm and the radius of the atomic nucleus is in the range of 10 -
“-10 “cm.

TRATUL3 7 gART TH TeT # Wel 3R gaae &4 &l

TRATY] STHR 10° A & o7 & § 3R wATy] 1fe &t fAsur 10 -10 2 A & dur 7 2

Q 12. The size of the nucleus is measured in:
TS T STHR ATAT SATAT &

a) Amu / TUA.Z,

b) Angstrom / &I

c) cm / 3.4,

d) Fermi / wHT

The size of the nucleus is measured in fermi units.
IS BT MHR BHT ShTgaT H ATAT SATAT B

1fermi=10" m.

Q 13. The radius of an atomic nucleus is of the order of-

TRATY] A1AS 6 FHsar &7 HH &:-

a) 10™%cm

b) 10™cm

c)10® cm

d) 10® cm

Atoms always have an equal number of protons and electrons.

Atomic size is in the order of 10° cm and the radius of the atomic nucleus is in the range of 10 -
®-10 *cm.

TRATUL3 7 gART TH TeaT # Wel 3R gaae &4 &l

TRATY] STHR 10°° A & o7 & & 3R wAry] 71fe 6t fAsur 10 -10 2 I & dur d 2

Q 14.. Electrons in the highest energy level of an atom are called_______ .

U RYATY & ITdH Foll TR W TATE DEATd 8:-
a) Valence protons / TGS Ui
b) Orbital protons / we&ftT WielT



c) Valence electrons / 94ISd salaeid
d) Orbital electrons / ®&ftT gaaeT

Valence electrons are the electrons in the highest occupied principal energy level of an atom.

JiT ST TS TRATY] & I=TdH Heol dTel THA FHoll TR | gaAae e &l

Q 15. Which of the following has maximum Mass?

AfaRed d & sfadan geaar faasT gim?

a) Electron / saiae=

b) Proton / Wi

c) Neutron / =ggiq

d) Nucleus of Hydrogen /gTggioi ATfAs

A neutron has a slightly larger mass than the proton. These are often given in terms of the
atomic mass unit, where one atomic mass unit is defined as the 1/12th the mass of the carbon-12
atom. Hence, neutrons have the greatest mass.

S P GoUH Uiei ¥ A1ST 1A BT 81§78 319 W] oIHH $6Ts & de o faar ST &, Siet o
RYTY] GUHT $HTE &I Hla -12 AT & goud™ & 1/12d & ¥9 ° gRuTiid far Srar 81 safag, <geia &t
SoUHT TS ST &1l &

Q 16. Who is awarded by Noble prize for the discovery of neutron?
IS B WA & fAw Tiddt QpR F f68 wanfad faar mar?

a) Chadwick / 9sfa®

b) Rutherford / I&X®IS

c) Neil Bohr / Fiaf §R

d) Roentgen / Jg=eaid

The Nobel Prize in Physics 1935 was awarded to James Chadwick "for the discovery of the

neutron."

1935 # ifadh! &7 Ted GRAR 1T I8faad & "ggiv & [t & fag” fear mar o

Q 17. The subatomic particle that does not have any electric charge is a/an

U QAT 30 AU HUT 8 fAad IR $I$ dgfd 3rmaer T8l g

a) Electron / saiaei=
b) Proton / WicH
)
)

C

Neutron / =g

d) All options are correct / a4t fasea 81 €|



Atoms: The smallest particle of any element that has all the chemical and physical properties of
that element is called an atom.

The atom has three subatomic particles: Electron, Proton, and neutron.

The proton and neutron remain in the nucleus and the electron revolves around the nucleus on
a particular path.

The electron has a negative charge on it and the proton has a positive charge on it.

The Neutron is neutral.

WRATY: {5t oft 7 &7 TR BieT Hur fod 3T 9 & auft mafas ik wifdes 17or 819 &, ATy SEemar
gl

QRATY] H o IU-TRATY HUT B 8: Feiare 1, Wl 3R G|

iet 3R g A1f0e # 8 & 3R saiagi= T Ay g W 1A & IRT 3R I @d 2|

eI BT 3T W FRUMHSD 3MTALT g7 & 3R WelT &1 37 W €HTHS ST 8T 2

el de Bl

Q 18. How is atomic mass number determined?

TRHTU] goTAT IWReAT fard TSR AT &1 ST Tdhell 872

a) By total number of protons /$a WEHT BT TeaT A

b) By total number of neutrons /gl gl I TAT I

c) By adding number of protons and neutrons /WIciHI TUT =TT I TWXAT & $ol TN A
d) By total number of electrons / $el gaiagHl bl TeuT &

Atomic Wei3h+ vs. Atomic Mass

Atomic mass is the sum of protons Atomic weight is the weighted
and neutrons of a single atom. average of the atomic mass of
all natural isotopes of an element.

Q
i 6 N\
(€]
0 @ 7
€]
0269
@ Carbon
6 L 12.0107
Carbon-6 Atom Carbon
Atomic Mass =12 Atomic Weight = 12.0107

Q19.* Arys “°Kys *°Cayo are called-
0 Ars Ky *°Cayzo PEAT -
a) Isotones / FHggIA®



b) Isotopes / TS

c) Isobars / THYTR®

d) None / 78 @ &g 7&f
Atoms of different elements having different atomic numbers but the same mass number are
called isobars. In the given question, Ar, Ca, and K all have the same mass number.
ST 3TAT dedl & TRATU] AT TRATU] TREAT STeATT-3TAT Bt & W g TRedT AT &It 8, SMETER
FEaTa &1 feu e usr #, Ar, Ca iR K oft &t goqam ke amm 21

Q20. The accepted unit of atomic mass and molecular mass is
RATY] GTHT 3R SMTUAS goadT &t WPpd Th18 o

A. amu

B. g

C. kg

D. g mol”

The unified atomic mass unit (u), or dalton (Da), is a unit of atomic and molecular mass.

By definition it is one twelfth of the mass of an unbound carbon-12 (12C) atom, at rest and in its
ground state.

TG TRUTU] SoUHTT TS (), TT STee (2T), TRHTY] 3R 3T goidT & U S8 2

TRYTT & AR TE T JFETSS Be-12 (12C) WHIU] & FoiHT ST SRedl 28T 8, 3R & 3R gadt
STHIT 3raeeT 7|

Q21. The reference standard used for defining atomic mass unit is
TRHATU] GoUHTT $HTE Y TRYTRIT o & AT wgeh e e &

A. H

B. C-12

C. C-13

D. C-14

Atomic mass is defined as a multiple of one-twelfth the mass of the carbon-12 atom.

TRYTY] GO &I HIEH-12 TRHTY] & GeIHTT & IREd T & OIS & §9 § RN fasam ST g1

Q 22. Which of the following scientist suggested that symbols of elements can be made by first
one or two letters of the name of elements?

fofafed & & o ¥ a1 3 gea far 6 act & udie dal & 98 & Ugal Us a7 af 31&r gRT fdu S
T 8|

a) Dalton / gTeeq

b) Rutheford/ IeX®IE



c) Berzelius /aTfSiferag

d) Lavosier / @asf@w

Berzelius was the scientist who suggested that the symbols should be made of one or more
letters.

He discovers the chemical elements cerium and selenium and technic of isolate silicon and

thorium.
FolferaT 98 daTRa a7 S gera et ot & uefis v a1 31fdss srert @ & & =nfduy
ag Tmafas dat ARaw 3k Aafum ok gus RAfast sk Mifaa 6t warsit & [@e war 2

Q 23. What is the mass of one mole of a substance in grams is called?
et off 7@ & AT F TP UTH SoTHH HT Fed 87

a) Nuclear mass / A& gaad™

b) Atomic mass / TRHATY] geqHT

c) Mass No./ goodT I=dT

d) Molecular Mass / 31fdd gogdTT

The mass of one mole of a substance in a gram is called its molar mass.

U UTH § TRt uard & U A T gouHT 3TDT AT¢ GHHTT HEATAT &

Q 24. Atomic theory of matter was given by which of following?
geref &1 AT g A= § O faasd grr fear mar ar?
a) Avogadro / Tanmsr
b) Dalton / Sfees
c) Newton / =g
d) Pascal / UR&eT
The atomic theory of matter was proposed by John Dalton.
John Dalton (1766-1844) developed the first useful atomic theory of matter.
Teref ST WATY] Agid S STeed gRT Uarfad fasar mar o
ST STeed (1766-1844) X UaTy &1 UgdT Uit wATY] Rigia fasfaa fasar)

Q 25. If Na has 11 electrons then how many electron will be there in Na*
Ifd Na # 11 geiae™ 8 a1 Na* # fba satagi= gii?
a) 1
b) 12
c) 10

There are 10 electrons present in Na+ . This is because Na has 11 electrons at first.



Na+ # 10 saagi Higg &1a &1 4T gafaw & wifs Na ¥ Uget 11 gl 81 &

Q 26. If chlorine (Cl) has 17 electrons, then how many electrons will be there in L Shell’

Tfe R (Cl) # 17 Saiae &, @ L & # fha saag g

a) 8

b) 6

Q)7

d) None of the above
The atomic number of chlorine is 17. Hence it has 2 electrons in its innermost shell, 8 electrons
in its second shell and 7 electrons in the outermost shell respectively. L shell of chlorine
contains 8 electrons.
FEARIT T TRATI] TeAT 17 &1 ST 5T TR I A 2 TAGTI, TR BN T 8 Foiae T 3R e a8
BT H 7 Tae i & &1 T & L Hrer & 8 goiaei g &

Q 27. Calculate the molecular mass of HNO;

HNO, & 3TuTfdes geadTd o TuET Y

a) 36u

b) 16 u

c) 63u

d)30u
Atomic mass of H/ H &T IHTT] ga0d = 1u
Atomic mass of N/ N &T AT gagH M = 14 u
Atomic mass of O/ O &T WA gTH = 16U
The molar mass of HNO3 is/ HNO3 &T ¢ goad &
= (1x1)+(1 x14) + (16x3) = 63 U.

Q28. The number of moles for 52g of He is (Where atomic mass of He:4u )
52q & foIT Al &Y TRAT & (ST He:4u T IRATY go0dT)
A. 6.022x10%
B. 13
C. 52
D. 1

Number of moles = Given mass / Molar mass = 52/ 4 = 13 moles.
AT Y TReT = feaT T gogH / ek S = 52/4 = 13 Hid|

10



Q29. Molecular mass of water H,0 is
Tt &7 SMuTfas gead H,0 &

A. 18g

B. 8¢

C. 33g

D. 34g

The average mass of one H20 molecule is 18.02 amu. The number of atoms is an exact number,
the number of mole is an exact number; they do not affect the number of significant figures.
The average mass of one mole of H20 is 18.02 grams.

This is stated: the molar mass of water is 18.02 g/mol.

TS H20 37] &7 3id gadT 18.02 amu & | TRATULST ST TRAT Teh T IReT g, fae $f Tar i aciad
AT &; I HEaqUT 3Tichs| ol TReAT BT UTfad 81 B 2

H20 & Ta Tt T 3iled goad™ 18.02 UTH |

TE H&T AT &: U &I <T¢ goudT 18.02 UTH/HIA 2

Q30. How many times an atom of sulphur is heavier than an atom of carbon?
TR BT T THTY] HTe & TRATY J fed= 747 o1dt ghar 272

32 times

12 times

8/3 times

D. 12/32 times

Nnw»

Mass of a sulphur atom = 32 u

Mass of a carbon atom =12 u

. 32, 8 . .
An atom of sulphur is ﬁ|.e., gumes heavier than an atom of carbon.

Q31. The percentage of Hydrogen in H.O molecule is
H20 311 & gT8Io &l Ufasrd &

A. 5.55

B. 1.11

C. 44.45

D. 88.89

There is also one mole of oxygen atoms weighing 16.00 grams in the mole of water. To get the
percentage of hydrogen, divide the 2.016 by 18.015 and multiply by 100.

T & e Wel # 16.00 UTH TSI dTet STaRitor TRATULST &1 U Al Y BraT 81 gT8gIo &7 wfaerd ured
& & Ty, 2.016 HI 18.015 F fauTfAd & 3k 100 T T[T |

11



percentage of hydrogen = % x 100=11.1%

Q32. One mole of a compound contains

T NP & T Hied T &

N>

D.

1 mole contains 6.022 x 10* entities (Avogadro's number).

1 H 6.022 x 107 g1l (@S &Y TedT) Bl 2

Q 33. Which of the following has highest molecular mass?
fofafaa 7 3 foad Taffae smufas goowm 872

a) H,0O
b) O,

c) CO,
d) CH,

6.023 X 10” atoms
6.023 X10** atoms
60.23 X 10”° atoms
6.023 X 10” atoms

Molecular mass ofCO,= Molecular mass of carbon + 2 (Molecular mass of oxygen) { 2 atoms of oxygen are present)

Molecular mass of carbon =12

Molecular mass of oxygen=16

molecular mass of CO, =12+ (16 X 2)

=12+32

=449

Mass of 1 mole (6.023 X 1023 molecules) of CO2 is about 44g.

Q34. Convert 20 g of H20 into moles.
H20 & 20 U9 & AT # & |

A. 1.1 mole /HYeT

B. 2.1 mole /&td

C. 3.1 mole /|te

D. 0.1 mole /ATd

Molar mass of Water = H,O =2 + 16 = 18 g/mol

So, 1 mole of water weighs =18 g

which implies, 18g of water = 1 mole

Therefore, 20g of water = 20/18 = 1.11 mole

12



Q35. According to Law of Conservation of Mass
GO & TREUT S AgH & AR
a) Mass of reactants = Mass of products /3fRSRST HT geIH = ITGT BT GoUHT

b) Volume of reactants = Volume of products /3fASRST ST JTTA = IcdTal BT A

c) Moles of reactants = Moles of products /3fASRST & HId = IedTal & Hicl

d) Molecules of reactants = Molecules of products /3fAGRSI & U] = IATEl & 377]

Q36. Number of protons and electrons in an electrically neutral atom are
faerd IeRfT AT & Wel sk sagi- & TReaT gy @

A. different /fafa=

B. same / guM™

C. cannot be predicted / aTaT & ST TchdT &

D. average /3ftaa

The overall charge of an atom is zero because the atoms have an equal nhumber of protons and
electrons. The charge of both protons and electrons are of equal strength, therefore atoms
having an equal number of protons and electrons are electrically neutral./ GIHTU] &7 $el JTALT
T BT & Fifes ruTupei # Wele 3R gaiaerHl i TReT T gt 1 Wl 3R saaerHl St & 3maer
TuT 1fth & i €, safaT U TRaT B el 3R saaeiHT aTel AT fagd ¥U @ 9o 8

Q 37. The absolute value of charge on electron was determined by ?
Foge W 3MMaLT &1 fRuer aH fosgsds grr Ryt fosar mar ar?

a) Thomson/ gTHIH

b) Rutherford /Re®wIs

c) Chadwick/dsfa®

d) Milliikan/fafee

The absolute value of charge on the electron was determined by R.A. Millikan by using an oil
drop experiment. The charge on the electron is -1.6x10 ~° C.

Folag i WR 37A &7 fRO& a9 R.A gRT etk faar mar o7| fAfaeT te d §g 7T &7 3ughT avas|
ToAdET W 33 -1.6x10 ©° C T 2l

Q38. Find the formula unit mass of K,COs.

K,CO; ST T hTs GoadT™ JATd D]
a) 123
b) 138

13



c) 110
d) o8
Molecular mass of K-C O3 = (2x Atomic mass of K) + (Atomic mass of C) + (3x

Atomicmass of oxygen)=2x39+12x1+16x3=78+ 12+48 = 138u.

Q 39.The proton is heavier than electron by?

b) 1837
) 2037
d) 1537

Proton is 1840 times heavier than electron.

WeT soaeiT ¥ 1840 T[T WS B

Q 40.who discovered positron?
TRAICH &7 et fhea 12

a) Thomson/ gTHad

b) Rutherford R®IE

c) Chadwick/dsfa®

d) Anderson/usad
By studying the tracks of cosmic ray particles in a cloud chamber, in 1932 Carl Anderson

discovered a positively-charged particle with a mass seemingly equal to that of an electron.

Anderson's particle was the first antiparticle proven by experiment and was named a “positron”.

Ueh dTced S8 H Falisig fHur Hull HY uelal &1 3requd avd, 1932 § &lel US4 TP THRIHS F7 I
SMATAT FHUT FI [T Y, AT ToTH U SoideiT & RIS Udld &1dT & | TS BT HUT YT grT g far
T YT UaTfdehed AT 3R 3 "Uifaier" amw faar mar o

Q 41. Number of electrons present in M-shell?
M- el & IURAT Saiaei-l &Y TeaT &2
a) 2
b) 8
c) 18
d) 32
M shell has one s-orbital and one p-orbitals and d-orbitals.

14



The s-orbital can have a maximum of two electrons, p-orbitals can have a maximum of six
electrons and d-orbitals can have a maximum of ten electrons, so the M shell can have a total
of eighteen electrons.

T 9 H U wT-3iifded 3k wa W-siifdecy ok d-arifdeey g1 &1

5-HeTd U AHAT & TAGTIA &1 UDd 8, p-P&D! U VAT B Taide- & Tad & 3R d-Herdi &
IfAFHAT T TATEI & Tdhd &, TATAT M T8I H Fol 3I6RE TG &1 Tdhd 2l

Q 42. Al the four quantum numbers of two electrons in an atom are not the same. It is the law
of

oY RmTe] # IURAT 2 goiae T Y IRT FaTUeH TRATT IHH &l gt g aw &

a) Hund’s rule / gus &1 faaw

b) Pauli’s exclusion principle / UT3cit &7 SUasiA

c) Uncertainty Principle of Heisenberg / gsiHa &7 SrAfFddr &1 fagrd

d) Avogardro’s Law / TanTg! &7 fagid

The Pauli Exclusion Principle states that, in an atom, no two electrons can have the same four
electronic quantum numbers.

UTI3ett 3ruaeid fAgid dear 8 &, v i) #, fadY off @ saigei=l & Iu™ IR saaeiRd Faiey TRy T8t
g1 T Bl

Q 43. Nitrogen atom has unpaired electrons. This can be explained by?

AEEISI WRHIU] § 3G Saidei 81d &1 58 e & & fvw Rigid & STaR W &dTaT Sff T 872
a) Hund’s rule /gs &1 fagw

b) Aufbau Principle /3TThaT3 &7 fAad

c) Pauli’s exclusion principle /UT3et &T g fAaw

d) Heisenberg’s uncertainty principle /gTeaiHat &t srfafgdar o1 fAaw

The presence of three unpaired electrons in nitrogen is explained by Hund's rule.

£S & gy gRY A1egie # d9 1gftud saiaei-l o I &I gwemar mar gl

Q 44. Name an atom in which the nucleus of that atom does not contain any neutrons?
3T AT ST 917 FdT8V fTTH 37 AT & 106 T HIE Y T8l erar g?

a) Oxygen /3fTadIeH

b) Hydrogen /gTggieA

c) Phosphorous /BRI

d) Sodium /af3Tg

Hydrogen is the only element that does not contain any neutrons in its nucleus.

15



ETSSIo UHHTA VT dcd & o 91U § 1 i 98l &rar gl

Q 45. The maximum number of molecules is in?

a) 52 grams of nitrogen peroxide/52 UTH AT WRITHTSS
b) 48 grams of ethyl alcohol/48 UTH T 3iehlgat

c) 36 grams of water/36 UTH UTHT

d)

14 grams of carbon dioxide/14 UTH &HTe STESTATSS

Molar mass of H;O0 =18 g

No. of molecules present in 1 mole of H,O = 6.022 x 102

36
No. of moles of H;O = i 2

So, the no. of molecules of H,O present in 2 moles of H,O = 2 x 6.022 x 102 =
1.2044 x 10

B. 1.5 moles
C. 2 moles

D. 1 mole

Atomic mass or molecular mass of the sodium =23g

Given weight of sodium= 46g

Number of moles of sodium = given weight of sodium/ molecular mass of the sodium
Number of moles of sodium = 462/3=2

So here the number of moles of sodium of 46g sodium is 2 moles.

HIFSTH T WRHTU] eTHTT T STUTTAD GoUHT =239

HfsaH o1 fdar mar WR = 469

HIfSTA & el DY TRedT = FSTA &7 fagr mar wr/ASaw &7 JuTfdes geud
T & AT DY FeAT = 462/3=2

T TgT 46q TTTT & WETA & HieT & TAT 2 WA &

Q47. The atomic radius of hydrogen atom is:

ETES oI TRATY] &1 TRATY] AT 8:

16



D.

N>

25
30
53
43

Atomic radius is the measure of the distance between the center of the nucleus to the boundary

of the electrons surrounded by it. The Hydrogen atom has an atomic number 1 and a standard

atomic weight of 1.008. Its atomic radius is measured to be 53 pm where pm stands for

picometer measurement.
RATY] 0T 10 & $g & ST S QU B 3T IRT IR I Tk saagE! S HHT 96 AT9dT 81 8o
TRHTU] T URHTY] SHHTeh 1 3T HIFeh TRATY] HR 1.008 &1 $HBT WHTY[ FASUT 53 It HIUT SITT & S&T SARTE

fRerier 1o & faw gar 21
Hydrogen
atomic atomic weight
number 4 (100784, 1.00811] =
O__ acid-base properties
symbol —_ H of higher-valence oxides
~
electron % I~ crystal structure
configuration — .. N
1
1s physical state
_—_— hydrogen at 20 °C (68 °F)
|:| Other nonmetals = =asea Gas

® Hexagonal

O Equal relative strength

Q48. Who gave the Law of constant proportions?
@R srguTd &1 o feaw faar?
a) Cavendish /&df3er

b) Proust /Ui

c)

Dalton /3Teed

d) Lavoisier /AaifaizR

In the year 1794, the French chemist Joseph Proust formulated the law of constant proportions

from his work on sulphides, metallic oxides, and sulfates.
1794 #, WA [ATTTS SO TS 3 TEHIEs, U1 aATEs 3R Tothed W 39 ST ¥ fRaR rgaTd &1
FIH dOR T
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Q49. How do atoms usually exist in nature?
Upfa # STHER R AT A g &2
A. In the form of molecules /3103 & 7 &
B. In the form of ions /31a+i & ¥4 #
C. In the free state /g 3/axaT &
D. In the form of molecules and lons /3T0]37f 3R 3TTT & ¥ &

Atoms usually exist in two forms:/ TRHTY] AR W &l ¥4I § Hig &1d &
a) Molecules: A molecule is the smallest particle of matter which is composed of two or
more atoms and has independent existence./ 31UJ: T 370] T ST HGH BICT HUT &IaT & off
3 a7 &1 ¥ 3% WRATYLST I §H1 81T & 3R faeT wada siide ghar 2|
b) lons: lons are the charged species that are formed by the losing or gaining of electrons

by a neutral gaseous atom./ 3TT: 3T AT TSIl & ST Us dex TRy Wy gRT
olaeTEl & W@ AT UT g1 A ST &

Q50. Identify the symbol used to represent Avogadro’s number.
STANTTET TRAT HT A & & fv wges uedfie & ggaH|

A. MA
B. AO
C. AN
D. Na

The symbol for Avogadro’s number is ¥ 4.

023

The value of Avogadro's number is 6.022 x 10% mol 1.

Q 51. Which of the following particle has the dual nature of particle and wave?
fFofafad & 3 fad For ok @ & el usfa 272
a) Neutron / =g
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b) Electron / aagi
¢) Meson /494
d) Proton / wiei

The only reasonable solution was that electrons possess both particle and a wave nature.

THATH IR TETI TE o7 {6 saagi-t # $ur 3k 90T vafa St g B

Q 52. What are isobars?

TauTies T §7?
a) Elements with same atomic number but different mass number /|TH- WA HHid quT fA=-
O~ gogwT™ . a1l dcd
b) Elements with different atomic number but same mass number / fO=-T9~1 THTY] HHid AT
TH oA H.9Tel ded
c) Elements with different atomic number and different mass number /fa=-fa= WA HHid TuT
=791 gousT 4.
d) Elements with same atomic number and same mass number /AT UIHTY] HHIS TUT THTH dTet
ded g .

Q 53. Bohr’s concept of the orbit in an atom was contradicted by which principles?
SIE & WRHTY] T STYRUI ST We fba g gRT |us faar mar or?
a) De-Broglie relationship / SishTe! He&e-
b) Uncertainty principle / SifAfgaar &1 fagia
c) Planck’s hypothesis / @i & gRRaea-T
d) Hund'’s rule /g8 &1 fAaw
Bohr's model of an atom is contradicted by Heisenberg's uncertainty principle.
According to Bohr's model, an electron in an atom is located at a definite distance from the
nucleus and is revolving with a definite velocity around it.
According to Heisenberg's uncertainty principle, it is impossible to determine simultaneously
the exact position and momentum (or velocity) of the electron.
g T TATY] ATSH gTgoaTt & SAfAaar RAgid &1 WsT ar gl
IR & Hisd & IR WATY] # T SAagi- A0 ¥ Ua RfYd g R A9 gar & 3k 333 91t 3R va
A a7 & T emar B
ETEoHET & FAFddT RAgid & TR, Tadgid & acid A 3R fd (a1 am) &t vas ary FHyffa A
3V B

Q 54. Who was the first to explain hydrogen spectrum?
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ETESIoN WaeH & RAT S aTeAT UEeT s S aT?
a) Dalton / gTeeq

b) Neil Bohr / e sig

c) Rutherford / I@X®IE

d) J.J. Thomson / 3.3, g91@d+

Name Digcovered Year
Wilhelm

Réientgen ARy 1898

hydrogen atom
Nells Bohr structure and 1913
Re spectrum

J J Thomson Electron 1897
James

Chadwick Neutron 1632

Goldstein Proton 1886

John Dalton | Atomic Theory 1808

Q 55. Latent heat of fusion of ice is?
S0 & el & e FT 8?2
a) 3.34 x 10° joules /kilogram
b)
C) 3.34 x10' joules/ kilogram
d)

6.34 x 10° joules/ per kilogram

5.34 x 10° joules/ kilogram

Q 56. Latent heat of vaporisation of water is?
STeT & TSI oY 0T HOAT 872
a) 12.5 x 10°joules /kilogram
) 32.5x 10° joules /kilogram
c) 22.5x10°joules /kilogram
) 22.5 x10% joules /kilogram

Set -2
1. Name the scientist who propounded a thoery that electrons are trapped in a

positively charged sphere./38 d3Teieh &l ATH ddisU [STH I§ IGCRIG]
gfaumfea frar & soacia gaafRa Mo 7 &7 @ &
(a) E. Rutherford/é. EIHIS



(b) J.J. Thomson /a1.3. ATHTA
(c) Camillo Golgi Jh TR e
(d) Neils Bohr/sied dlgT

RRB NTPC 03.02.2021 (Shift-I) Stage Ist

J.J. Thomson propounded a theory that electrons are trapped in a positively
charged sphere.

Thomson proposed a model of the atom consisting of positive and negative
charges present in equal amounts so that an atom would be electrically
neutral.

He proposed the atom was a sphere, but the positive and

negative charges were embedded within it.

S, AAH o Teh ey gfauried fohar fo gelacle e=rafard
el H BE TEd &l

ATAHA o TRATY] & Teh HISH TEATAd har TS dd FAeT A #
HiSE HHRIcA® AR ddRIcHs et afAe & arfes v o]
faegd &7 @ deey &l

3ol JEATiad T foh 9TATY] Teh el §, olfehel HhRIcHS 3R
5% AR FAPRICHS IR Jidfeied |

2. Which sub-atomic particle was discovered by J Chadwick? /ot dsfae & fha
3Y-GXATI] 0T T Wil HT A

(a) Proton/ScleT

(b) Electron /SoleFelal

(c) Neuron/FéIIc:{'\I’?-r

(d) Neutron /FCI‘\'QT?—T

RRB NTPC 19.01.2021 (Shift-1l) Stage Ist

Neutron was discovered in 1932 by James Chadwick by using scattered
particle to calculate the mass of the neutral particle. The sub-atomic
particle "Neutron" is present in an atom's nucleus.
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o TYgiel T Wl 1932 H FAFH YSTAHh o ACEY HUT & GedH i
?wwmﬁ%%ru%@%gcwwwmﬁaﬁlwéﬁ
AT H 3U-GTATY] HUT "=gLlel" HS[G BT &

3. Which British physicist was awarded the Nobel Prize in Physics in 1906 for his
work on discovery of electrons? /fF& fafeer siifas fAamT @1 sl &1

el W 3T H1H & AT 1906 # AR & Aldel RERR @ FEAAT
o aram e

(a) James Chandwick/si&g d1sfdeh

(b) Niels Bohr/aied &gl

(c) J. ). Thomson /a1 S ATHTA

(d) Ernest Rutherford/37o¥e IEIHIS

RRB NTPC 16.01.2021 (Shift-I) Stage Ist

e Name of Scientist - Discovery- Nobel Prize year

e J.JThomson. - electron - 1906

e Ernest Rutherford - Father of nuclear Physics. The discovery of nucleus of
an atom through gold foil - 1908

e Niels Bohr - Special contribution on atomic structure - 1922

4. Who discovered electron? /$<>\1¢§To-l $r @i e &
(a) Michall Faraday /HTSshel SIS

(b) J.J. Thomson/St.3t. ATHGA

(c) Albert Einstein /3Tedc 3-1131—‘&7-[

(d) J.C. Bose/<1. €Y. aF
RPF SI 24.12.2018 (Shift - 1)

RRB JE CBT-Il 28-08-2019 (evening)

5. Generally, the nucleus of an atom consists of ... /3TH aR U3, tI'{?ZlTUI +
GIE-Cole M re iy
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(a) protons and neutrons /aereT 3R Fﬂ(\?}'lu?f

(b) protons and electrons /oeraT 3R sﬁ'q'fl’?-f
(c) electrons and neutrons /Eﬁ'cl—?:ll?-r 3R Fq(\'cfll?f
(d) neutrons only /&hdel ggle

RRB J.E. 2014 (14.12.2014 Red Paper)

An atom is the smallest particle of an element that can participate in any chemical
reaction. But one cannot remain free. The nucleus of an atom consists of protons
and neutrons.

e A proton is a micro particle inside the nucleus, whose relative mass is
approximately equal to the mass of the hydrogen atom and has a unit
positive charge. Goldstein is related the discovery of this particle with
positive charge.

e A neutron is a micro particle inside a atom nucleus whose mass is
approximately equal to the mass of the proton. But there is no charge on it.
Namely, a neutron is a neutral particle. Neutron was discovered by James
Chadwick in 1932 by striking a -particles on beryllium metal.

o WA fhdll ded T G BIET H0T § it 6l o Tarf=es
ITAThIT & HET o Fehell B1 WAfhed HIS TacT w6 IE Fehell. A
& oATHE 7 Wefad IR =gl g

o Wiele AfAe & 3T Teh F&H HUT &, TSTHPT AIUET GeTATT oI
gISgIolel WAIY] & GedAT & sRIeX il ¢ 3R SHH Teh Fhrg
¢ATcHS 3T BT &1 IMesEeld Hl HAY HAlcHS AL dTel 3H
ST HT @7 I g

o LIl YA ATHE o 3HeI Teh FEH HUT § [T gegdreT
STITHIT WeieT o geHT & SIeX gidT gl oifhed 39 W I ITol
T8l &. 37U, 7l Ueh deEd &7 gl =il T T 1932 F AFH
dsfaeh o aRfeTH arg W ool § UER X @ AN
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6. In the nucleus of an atom. ...... found? /QTHTUI & ATdAS H. . .. ...
e

(a) neutron /quﬂ

(b) electron /SoieFelel

(c) protons/mﬁﬁ

(d) Protons and neutrons /aeraT 3R o-ZIt\EAUIo_-I
RRB JE 29.05.2019 (Shift-1)

7o, is electrically neutral and weakly microatom. /........... %Iag?r &
deEy 3R AR F&EA RAT] g

(a) neutrino /mj??ﬁ

(b) positron /ClquEl'c,"I;?-r

(c) eIectron/sﬁHﬁlJH

(d) proton /SeteT
RRB NTPC 12.04.2016 (Shift-I) Stage Ist

e The neutrino is electrically neutral and weakly micro-atom. Neutrinos is a new
particle, first discovered by Pauliin 1930 AD.

o el faegd ®9 F deTy IR FAR FEA WAV g wgfeal Th
T 0T g, FadT Tier 98 ggel 1930 §. # Ui3el o T A7

8. The equivalent anti-particles of electron are called ..............

golaciol & HAJeT TP ... hgalld gl

(a) neutron/o-ZIc\EAulo‘-l

(b) proton /SeteT
(c) anti electron/faAel selercreT
(d) positron /aiTol EAUIo_-I

RRB NTPC 18.01.2017 (Shift-I) Stage lind

e The equivalent anti-particles of electrons are called positrons. The positron is
an elemental particle found in the electron atom, which was discovered byCarl
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D. Andersen in 1932 A.D., it is a positively charged particle, whose mass and
charge are equal to the electron, so it is also called the electron's antiparticle.

o SOl & HAGed Uil HI difaciel gl el gl difotele
SAFEld ILATY] F URIT STt aTell Ush Hifoleh o1 g, faaehr @it el
3. TS o 19325, H T oY, ¥g U 4RI FoT §, ST gegAT
3R 1A Sl & & BT g, SATAT U Solarcled I Tidenor o

gl SIdr gl .

9. Who discovered the electron? /Selareled dT @iaT fopast HI?
(a) Niels Bohr /aflcd@ €igT

(b) J.J. Thomson /<. 3. ATHGA

(c) Albert Einstein/3Tedc 3-1131-_5]?[

(d) Ernest Rutherford /3T {EIHIS

RRB JE 27.06.2019 (Shift-I)
RRB NTPC 17.01.2017 (Shift-1) Stage Ist

e The credit for the discovery of the electron goes to J.J. Thomson. Electron is
a particle whose mass is 9.1 x 10-31 kg. and on which the unit negative
charge is 1.6 x 10-19 coulomb.

o ToldCiel T WieT HT AT .. Hl AT gl LTHATAA. SIFclel Teh HUl
¢ fogeT gegdArT 9.1 x 10-31 R g1 3R 69 W S5 FHucHAS
HTAM 1.6 x 10-19 Fel#d g

10. Which of the following particles has positive charge? Jeefaf@a & 8 T
HUT W YedlcHh AL BT &7?

(a) neutron
(b) proton
(c) electron
(d) krypton
RRB NTPC 29.03.2016 (Shift-1l) Stage Ist
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e The proton is a fundamental positively charged particle with neutron in the
nucleus of an atom. The pairs of protons and neutrons are called nucleons,
which are bound together by the nuclear force in the atomic nucleus.

o YICId Ueh GAY] & Al H 7T & Y Teh Al GellcAs
HEARAT 0T §1 el 3 7l & SIS A GfFerdisl gl ATl &,
S ORATY] AT H GATY] o GaRT Ush Y T gl |

11. Sub-atomic particles which have opposite properties from normal sub-atomic
particles are known as? /fSTeT 3Y-URATU] U & IOT ATHY 3T-GIATI] FHUlt

g [ARdT gid € 378 FIT Fel oIl g?
(a) Positron

(b) Anti-particles

(c) Photons

(d) Neutrinos

RRB NTPC 31.03.2016 (Shift-1l) Stage Ist

e Sub-atomic particles that have opposite properties from normal subatomic
particles are known as anti-particles.

o TS I9-RAT] Fo & IOT WATT 3U-AT] Fol F T 8 &,
3¢ UTd-shUT hgl ST 2l

12. Who discovered the word 'atom'? /'CRTITUI‘ rsg T Wil Tohday hI?
(a) Dalton /sSTecal

(b) Kanad /ehUTIq

(c) Lavoisier/FlT:lqusl?:IT

(d) Democritus /SAITshe T
RRB Group-D 31-10-2018 (Shift-1)

e Greek philosopher Democritus first used the word 'atom'. Which means that it
cannot be broken. In nuclear chemistry, there is small part of an element that
can participate in any chemical reaction but cannotremain in an free state.

e Atoms are made up of protons, neutrons and electrons. The size of atoms is
very small and mass is very small.
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o el Eifareh SAfShed o HIW Ygel "URATY] Asg I FAT fham |
It foh S8 QIS 16T ST Fehdl. WAV 0 faa &, fohdll dca s
UF BICT A1 REEr g § S R ofr qerafas ufafear & emer @
Hehell § olfehel FaciT IaeAT H Gl T Hebell ol AT Wl § &
8ld &,

o Ygla 3R Felgial. WA HT IHR g BIeT AN FoTAT Fgd
BT BT ¢

13. An electron has a negative charge. /TUch $<>\lcr§To1 I FHKUMcHSD ICE glal

gl

(a) 1.6 x 10+18C
(b) 1.6 x 10-16C
(c) 1.6 x 10-18C
(d) 1.6 x 10-19C

RRB JE 29.05.2019 (Shift-1)
RRB Group-D 16-10-2018 (Shift-I1)
RRB Group-D 01-12-2018 (Shift-I1)
The electron has a negative charge of 1.6 x10-19C, while its mass is 9.1 x 10-31

kg.

14. Neutron is present in all atoms except.......... /Fa@’?r Bl DIsHY THT
WA & Alge Bl
(a) Cr
(b) H
(c) C
(d) Mg
RRB Group-D 10-10-2018 (Shift-1lI)

1 electron with one proton is found in the hydrogen atom. There is no neutron in
its nucleus.

15. Protons have .................. positive charge. /MClT & oooovvveerreenn, ollcH ALl
gl &
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(a) 1.6x10*18 C
(b) 1.6x107%8 C
(c) 1.6x10%° C
(d) 1.6x10710 C
RRB Group-D 02-11-2018 (Shift-1ll)

The proton is a stable particle found in the nucleus of an atom with a positive
charge of 1.6 x107° coulombs. Its mass is 1.67x107%7 kg. It was discovered by
Goldstein in 1886, but this particle was named Proton' by Rutherford (1919).

Wiele Teh fE 0T § S GA] & ATHG H 1.6 x10-19% 1A &
hRIcHS AToT o G UTAT SATdT g1 SR gedHAT 1.67x10-27 fhralame
g1 TP @IS Mestlld 7 1886 H FI 2, Afchad 3T HUT & ATH TEIDIS
(1919) & 'WrefeT IW@T|

16. In.....all subatomic particles are present except neutrons. /. qu?f o)
BIsH Hl IURANTGS FH0T Al B
(a) carbon /Tt
(b) nitrogen /H‘IE‘QGIH
(c) hydrogen/%'lé?l\_rl?f
(d) oxygen /3iTedaTT
RRB JE 23.05.2019 (Shift-1V)

¢ |n hydrogen all subatomic particles are present except neutrons.

o EIEIISA H 7ol HI BISH FH IUGATVGH HuT Hi[g g &

17. Which of the following is not a sub-atomic particle of atom? /fAFAfli@d &
¥ el AT THY] 1 IT-GHAV] HUT gl §?

(a) Xenon/STTsT

(b) Neutron /Fq@'?-r

(c) Proton/SicleT
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(d) Electron /S@IEI—?IJH

RRB Group-D 17-09-2018 (Shift-Il)

e Electron, proton, neutron are sub-atomic particle of an atom. While xenon
is not a sub-atomic particle of an atom, but is one of the inert gases located
in the 18th groups of the periodic table.

o SolaCiol, Weld, =gl Teh TWATY] & IU-GXAY] HUT §| Selfeh Feileled
ferdll IRATI] T IT-GAT] H0T 7T g, Ifos ITad FROT & 189
g 7 ua fr A9t F F w {1

18. Which of the following is not true about atoms? /WTUI}ﬁ & IR H
AR & & FeT AT TeT A B

(a) Atoms of two elements are same. /& dcdl AIHTU] HHTe gl

(b) They occur in the order of 10-10m. /& 10-10 HeT & %A H BId ol
(c) Atoms are very small in size. /9THTI] 3T H Sgd B¢ 8ld ol

(d) The atoms of an element are the same in all states./fpdl dca & IIHTIT
el raearHt H AT g g

RRB Group-D 12-11-2018 (Shift-I)

Correct statement about atom: -

1. Atoms of any two elements cannot be the same.

2. They occur in variance of 10—-10m order.

3. Atoms are very small in size.

4. The atoms of an element are the same in all states.

AT & IR H TET hYUeT:-

1. fohegl @l deal & TAY] Teh FHATA el & Hohol |
2.9 10-10 A A & Aeddr H g gl

3. 9XATI] 3TN ﬁqu BT 81 &1

4. TREY dea & TRATI] HefY 3T ABT A FAT 81 €
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19. Who is considered as the 'Father of Nuclear Physics'? /WTUI AT 1
STl fohE ATAT 1T 82

(a) Neils Bohr /alcd@ €IgT

(b) E. Rutherford /é. EIhIS

(c) J.J. Thomson /1.9, AqTHGT

(d) J. Chadwick/St dsfas
RRB NTPC 17.02.2021 (Shift-1l) Stage Ist

e Ernest Rutherford was a New Zealand physicist who came to be known as
the Father of Nuclear Physics. He is famous for his work on radioactivity
and the discovery of the nucleus of an atom with the gold foiled
experiment.

o 3IEC TEIHIS wgails & Hifde faeel ¥ foeg wRaAm] i &
STeleh & ¥ H AT AT g1 38 I3WUFAT W) 39ar FreT 3R d9eF
T SRNT & A WAV] & AfFw HF @ & v gfdey g

20.Who provided the basic theory about the 'Nature of Matter'? /'CIT:’\TQSF r
Yhfd' & IR H A Aeuid fhael ver fhar

(a) John Milton /STl fReca

(b) John Dalton /ST STeeeT

(c) Mendel /HseT

(d) Lavoisier/Fszlqu?l'QT

RRB NTPC 13.01.2021 (Shift-I) Stage Ist

e John Dalton Proposed basic theory about the 'Nature of Matter'. He told
that the matter is composed of exceedingly small particles called Atoms.
atoms are neither created nor destroyed during chemical reactions. An
atom is the smallest unit of an element that canparticipate in a chemical
reactions.
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o Silel STocel & G T Ypfd' & IR A A Beurd vedrad
frar| 3ol Sarr fF 9erd 3cud oie-8ic FUl § 91 § Seo
TATY] dhgd ¢ THRTAS GIAfHamit & ke WA & o o0d 8
3R o € ¢ gid 81 WAY] Rl ded T Ha oI SRS § S
TS gfafshansit & o o Tehdr §

21. Who was the first to use a cathode ray? Jh2E TRIOT &1 ST gad ggol
et foham am?

(a) Ernest Rutherford/3Ti€e TEIHIS

(b) John Dalton /SileT STeced

(c) J.J. Thomson/St. . ATHGA

(d) Goldstein /IMeSELTST

RRB JE 29.05.2019 (Shift-111)

e For the first time, a cathode ray experiment was performed by J.J.Thomson.

o Ugall IR s faoT AT .3 ATATT garT fomar arar |

(a) The presence of nuclei /T $T 39TEATT
(b) Charge of atom /QTFITUI T AL
(c) Stability of an atom /9YHTI] $r feuar

(d) Presence of electron /Selarerd $T 3gfEufa
RRB JE 26.05.2019 (Shift-1ll)

e The Rutherford atomic model does not describe the stability of an atom.

o TIPS TATY] Alsel fahelt owaATo] T ReRar &1 auiel 7t e B
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23. In the Rutherford atomic model, alpha particles are projected onto

onr? [TCIDIS TXATI] HAISS H, 3TCHT HUT H ... SR IED]

T Srar g2
(a) Gold

(b) Silver

(c) Titanium
(d) Aluminium

RRB JE 31.05.2019 (Shift-1lI)
RRB Group-D 28-11-2018 (Shift-I)

e |n 1911, Rutherford used alpha particle scattering which was responsible
for the discovery of nucleus in an atom.

o 1911 F IS o oWl HUT FehIUTel T 3UANT fhaT ST AT H
AR HT @l & T [FFAeR T

24. What was discovered as a result of Rutherford's alpha scattering experiment?
/TEIHIE & 3T TheRdT JAT & IRUTATIRT FIT Tl ITT?

(a) neutron/Fqc@'H

(b) proton /9eteT

(c) nucleus in atom/9YATYT H ATTHS

(d) eIectron/sﬁHﬁlJH

RRB JE 27.05.2019 (Shift-Ill)

25.The nucleus model of the atom was first discovered by? /‘CﬂTlTUl FT ATTHSP
AlSel A9 Ugel fohdsh GaRT @Sl a7 AT?

(a) Ernest Rutherford
(b) Dmitri Mendeleev
(c) Niels Bohr

(d) Louis Pasteur
RRB Group-D 23-10-2018 (Shift-1lI)
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The atomic nucleus model was first given by Ernest Rutherford. /CR?:lTUI ATTRAS

Alsel HIH Tgol Ieiec {EIBIS EanT f&ar I ol

26. What is the maximum number of electrons that M shell can contain? /M hrer

H golaeisl T TS dd &I Fdar & Thdr &7
(a) 8

(b) 2

(c) 18

(d) 32

RRB ALP & Tec. (09-08-18 Shift-lil)
Ans : (c)
The rule is as follows.

e The number of electrons in K, L, M, N are as follows. The number of
electrons in an orbit is equal to 2n2

o UH 3T UFR ¥.

e K L M, NH SIacldl T TE&IT 38 TR gl [HdT FHeT & solaclal
$r I&IT 2n2 & TN T &

e wheren=K,L,L,M,Nor1234

e The given shell M means n = 3, therefore maximum
e number of electrons in M shell is 2 x 32=18

27. The number of electrons that can be adjusted in N Shell; /N qXor H
JARNTST fRU ST Thel aTel Soldelall I HEIT;

(a) 18

(b) 32

(c) 2

(d) 8

RRB Group-D 16-11-2018 (Shift-Il)
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28. The third orbit is denoted as ............. shell. /TG eI &l .......... I &

T H clTar I=m gl
(a) L
(b) K
()N
(d)M
RRB JE 26.06.2019 (Shift-1)

The third orbit is denoted as M shell.

29. What is the maximum number of electrons that can be accommodated in an
atom's K shell?/fh&l TRATI] & KT H W ST Hehol dTed FolFelall bl

FadT gEar haer &7
(a) 8

(b) 18

(c) 2

(d) 6

RRB Group-D 05-11-2018 (Shift-Il)

30.What is the number of electrons that can be placed in the L cell? /L T H

I ST hol aTel Soladeiall I TEAT fhdar &2
(a) 8

(b) 2

(c) 32

(d) 18

RRB Group-D 19-09-2018 (Shift-Il)

31. The atomic number of an element is 13. So how many shells does this element

contain? /TUeh Ted T URATI] HEAT 13 §| Al $9 ded & fohaa e &2
(@) 3
(b) 1
(c) 4
(d) 2
RRB Group-D 27-09-2018 (Shift-11l)
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Aluminium has 13 electrons in total( Atomic number 13), therefore according to
2n2 rule K, L, M (n=1,2,3) shells in aluminium atom will be filled as 2 electrons in

K, 8 in L and remaining 3 will enter into third M shelI./Wﬁ'ﬂF p= ?I;Tvr 13

golaciol Bld & (YA A 13), SEIAT 2n2 f9TH K, L, M (n=1,2,3) &
3THR TegHATaa GTATY] H HIA K, 8 H 2 Soleelal & & H X S0
LA 3R A¥ 3 M AT H 9a |

32. The maximum number of electrons that can be configured in the fourth level
of energy is. /Fall & Y TR H PIeHIR [FT ST vl dTd Selareial

37T ad gEaT gl
(a) 2
(b) 32
(c) 18
(d) 8

RRB Group-D 23-10-2018 (Shift-Il)

e The maximum number of electron in any orbit or energy level of an atom
can be 2n2, with 'n' being the serial number or prime quantum number of
that orbit.

e Therefore, the maximum number of electrons in group fourth or energy
level will be 32.

o el qTATT] T el el AT Foll TR H Foleelel HI JHUSHAA
HEIT 2n2 & Tohdl &, TGH 'n' 39 H&T HT HF TE&IT AT JHATT

FaeH TEAT gl

o 37 WHE UQY I Foll TR A Soleelal &l Hfbehadd HET 32
gt |

33. What is the electronic configuration of rhodium?

AfTH &7 sl a=arg a1 g7
(a) 1s2 252 2p6 352 3p6 3d10 4s2 4p6 4d8 551
(b) 1s2 252 2p6 352 3p6 452 3d8 4p5
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(c) 1s2 252 2p6 3s1
(d) 1s2 2s2 2p6 352 3p6 4s1 3d5

RRB NTPC 17.02.2021 (Shift-1l) Stage Ist

Rhodium atoms have 45 electrons and the shell structure is 2,8,18,16,1. The
electronic congfiguration of rhodium is 1s2 2s2 2p6 3s2 3p6 3d10 4s2 4p6
4d8 5s1.

UfSTH AT # 45 Solerelel gl 8 3R hIer A== 2,8,18,16,1

gIdr &1 ST 7 sogci@e =@ §-1s2 252 2p6 3s2 3p6 3d10 4s2
4p6 4d8 5s1

34. Name the element which has an electronic configuration of 2, 8, 7. /38 dcd

$T ATH Td8T TSTHT Solaciicle [9«ad 2,8,7 ¢l

(a) Carbon
(b) Hydrogen
(c) Chlorine
(d) Helium

RRB NTPC 07.01.2021 (Shift-I) Stage Ist

Chlorine is an element in the periodic table which belongs to the halogen
family. It's atomic number is 17.

The electronic configuration of chlorine is 2, 8, 7. It is used to treat drinking
water and swimming pool’swater, for the production of paper, plastic,
medicines etc.

FARIA 3Tad TRON H T ded g oI gollolel IRAR § H&Sd gl
ST IATI] HATH 17 &.

FARIT T SoIFciioleh AT 2,8, 7 ¢ STHT 3TN G & TlAT
AR TEafHAeT Gol & Ul & 3UHR, SHETS, CATiece, Garsil 3 &
3cule & forw fRar Srar g1

35. An atom has electronic configuration 2, 8, 7. What is the atomic number of
this element?/Ueh YXATT] T Feleciioleh Td=dH 2,8,7 &l $H dcd &l
WATY] AT T 82
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(a) 17
(b) 18
(c) 16
(d) 20
RRB-JE 30.08.2019, Ist Shift

e The number of electrons present in an atom as = 2+8+7=17
e Therefore, the atomic number of this element is 17 and the element is
Chlorine.

o T WA # HiGG Sidclall Hhl HEAT = 2+48+7=17 ¢
o 37c: 3H dcd @ YA HAih 17 § dUT ded Fellllel g

36. How many electrons are there in the outermost shell of all noble gases except

helium?/81TerI# T Biget HfT 3chse AT & Fad a6 &0 A
fepcter gerwreleT 81T &?

(a) 10

(b) 6

(c) 4

(d) 8

RRB ALP & Tec. (10-08-18 Shift-I)
Inert gas Electronic configuration
HC:
Ney,
Arg
Kry
Xesy
Rngg

[SC NN R SR S R S R S

37. What is the number of electrons in the outermost shell of the most stable or

inert atoms? /&8 &I AT 3fshd AT & Fad a6 1T &
Solgcldl I FEAT fhder gidr g7

(a) 4
(b) 1
(c)6
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(d) 8
RRB JE 26.06.2019 (Shift-1)

38. The electronic configuration of an element is 2, 8, 5. What is the name of that

element? /fFEY dcd &7 Sogciiaieh AT 2, 8,5 &1 3T dcd &I 1H FAT
g7

(a) Phosphorus/Q?I'\’:CIﬁW

(b) Sulphur /He™HI

(c) Chlorine/FaiIeT

(d) Magnesium /&I =T
RRB Group-D 12-11-2018 (Shift-1)

Element E
1. Phosphorus (;sp*') -
2. Sulphur (168™) -
3. Chlorine (,,CI””) -
4. Magnesium (]zMgH) -

ectronic Configuration

v

[ SR S S oS )

, 8,
, 8,
, 8,
, 8,

o =3 O

39. If the atomic number of a krypton is 36, its electronic configuration will be:
/TTE TohteeT &I YTATY] HEAT 36 &, ol THPT Felaciieieh [dedre gHa:
(a) 2, 18, 16

(b) 2, 8, 18, 8

(c)2,18,8,8

(d)2,8,20,6

RRB ALP & Tec. (09-08-18 Shift-1i)

e Krypton (Kr) has atomic number 36 and atomic weight 83.80. Its electronic
configuration is 2, 8, 18, 8. Krypton is an inert gas. It was discovered by

William Ramsay.
e |tis used to fill the electric immersion tubes. In addition, it is also used in
ionized chambers used for measurement of cosmic rays.

o fhTea (Kr) &1 TRATI] sh#ATH 36 3N TATI] HR 83.80 g SHAI
Soldcifaleh [aard 2, 8,18, 8 g1 fohcead wah 3ifeha 3 &1 sThr
et fafergs W@ o fr o
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o SHH YA Tacd fawsler TgaT &1 o & AT fomar e &
gT% 37T, SHAT YA hITEHS [HON & HAGT & fow 3TNET
fopT STet aTel 3Maeiiehd hefl # o foham e B

40. Electronic configuration of an element is 2, 8, 2 Name of element? /ﬁ@ dcd

P Solgcifolsh AedTH 2,8,2 & dcd &l ATH &7

(a) Potassium /ATe i
(b) Sodium /&SI
(c) Magnesium /&I —IT
(d) Radon /BT
RRB Group-D 12-12-2018 (Shift-)

Element-Name, (AtomicNumber) (Electronic

Configuration)
Potassium (K) 19 2881
Sodium (Na) 11 2 81
Magnesium (Mg) 12 282
Radon (Rn) 86 2, 8,18,32, 18,8

e Atomic Nucleus

e Atomic Number and Mass Number
e |sotopes

e Isobars

e Isoelectronics

SET 3 -

1.The atomic number of an element is the number of _______ in the nucleus of each atom of
that element. /f&Y dcd ST TRATY] HHIS IT dcd & TS WHIY[ & A0S &
(a) Protons/dterT

(b) Neutrons /=ggi=
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(c) Mesons /AT9

(d) Electrons/saiagi=
RRB NTPC 04.03.2021 (Shift-1) Stage Ist

® The atomic number is the number of protons in the nucleus of an atom. The number of
protons define the identity of an element.

® TRUTU] IReAT T TRATY] & ATHS H WieiHT & Tedr g1 Wiei! & et faadt da & gga™ &r
TR et B

2. The number of neutrons present in the atom of nitrogen is- /ATSgIaH & WRHTY] # IufAd =Yg

&Y TR B-

(a) 5

(b) 14

(c) 7

(d) 11
RRB ALP & Tec. (13-08-18 Shift-1l)

Nitrogen 7N14 has atomic number 7 and atomic mass 14.
Atomic number = Proton = Electron

Z=P=e=7

A=14

“A=P+n

14 = 7+n

n=14-7

n=7

Hence neutrons = 7

3. An element has 15 protons and 22 neutrons in its nucleus. What is its mass number/Te dw &
IS # 15 Wield 3R 22 i &1 $AST ouHTT TuT T 872
(a) 7

RRB ALP & Tec. (31-08-18 Shift-11)

Mass number of atoms of an element = number of protons in the nucleus + number of neutrons
in the nucleus
fralt dca & TRETLST T goaa™ WeuT = A0S § Uliel & et + J1fusd § =Yg & Jer

The mass number of the element here =15 + 22 = 37
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4. The isotopes of an element have a mass number of 298. If its nucleus has 188 neutrons, what
is its atomic number ?/f&dt a@ & TERATRAGT & gUATT TAT 298 £ T S 1S & 188 g €, al
STHT TRATU] TReAT T B2
(a) 188.0
(b) 488.0
(c) 298.0
(d) 110.0
RRB ALP & Tec. (29-08-18 Shift-111)

® We know that A = P+n

® Now A=298 & n =188

® Therefore P = 298-188 =110

® Because Atomic number = No of proton.

® Hence the atomic no of that element is 110.

5. The mass number of isotopes of an element is 296. If its nucleus has 198 neutrons, what is its
atomic number?
Y dd & THRATST T goadT IRAT 296 81 TfE $0d A11UG T 198 Y &, AT DT TRHTU] TeUT a7 872
(a) 494.0
(b) 102.0
(c) 298.0
(d) 196.0
RRB ALP & Tec. (30-08-18 Shift-I1I)

® Mass number (A) = Number of protons (P) + Number of neutrons (n)
® Number of protons = Atomic number (Z) .-

® A=7+n

® According to Question,

® A =298 N=19

® ..208=7+196,7Z =298 - 196 = 102

6. Atomic number is represented by which letter?
TRATY] TT &1 {5 37eR & g1far Arar 872

(a) N

(b) A

(c) Z
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(d) X
RRB JE 31.05.2019 (Shift-1)

® Atomic number is represented by the letter Z.

® TRUTY] FHHIE &Y Z 3R T 2011 ST 2

7. What is the atomic number of an element determined? /f&Y d@ &1 TATY] HHTS T [Aeifid
fo5am ST 272
(a) Number of electrons in a molecule /U 310] & gaagi-l &l HaT
(b) Number of neutrons in a molecule /T 310] & <Jgi- &I TReAT
(c) Valency of element /dc@ & dear
(d) Number of protons in a molecule /U 310 & GieTHT T Tear
RRB J.E. (14.12.2014, Green paper)

® Atomic number refers to the number of

® protons present in the atom. Let us display it with Z.
® U] i I AT TWReaT A &

o RO # HiS[g WeH. eV 3 Z & T1Y uaffd &1l

8. In the nucleus number of .... denotes atomic number. /10 & ... T TEIT TIHTU] AT BT ST
2l
(a) Proton/dterd
(b) Neuton /=ge
(c) Electron/s@ae
(d) Hydron /gTeg
RRB NTPC 16.04.2016 (Shift-11) Stage Ist

® The number of protons present in the nucleus of an element's atom represents the
atomic number of that element.

o 5 ad & WA & TS A Hislg Wel-t &Y TeaT 3T ded & TRUTU] IReTT HY 2midT &

9. What can be conclusion fond about the carbon atom from ¢C?? /,C? & &Teq THTI] & IR F &1
sy A&TAT ST Tdar 872
(a) It has 12 neutrons and 6 electrons. /39 12 g 3R 6 FAag gl
(b) It has 12 protons and 6 neutrons. /g9% 12 Weld 3R 6 YT |
(c) It has 6 protons and 12 neutrons /$98 6 Weld 3R 12 g &
(d) It has 6 neutrons and 6 protons. /g% 6 g 3R 6 W &l
RRB Group-D 18-09-2018 (Shift-1ll)
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Ans. (d) : Carbon atom (C"* In -
/XA
where Z = Atomic number = Number of protons =
Number of electrons = 6
A = atomic weight

where N = Number of neutrons
N=A-7Z=12-6= 6 neutron

10. Write the number of neutrons, protons and electrons in 9F19. /9F19 & =g, Wi 3iR gaiagi-!
$T TeuT fad |

(a) 10 protons, 10 electrons, 9 neutrons

(b) 9 protons, 9 electrons, 9 neutrons

(c) 9 protons, 9 electrons, 10 neutrons

(d) 10 protons, 10 electrons, 10 neutrons

RRB Group-D 03-12-2018 (Shift-1Il)

Ans. (¢) The number of neutrons, protons and electrons
in ¢F'” is - 9 protons, 9 electrons, 10 neutrons
respectively.

Number of electrons in an element

;X" = Number of protons = Z

And number of neutrons = A -Z

11.Which of the following elements has the lowest atomic mass? /Rufafdd & ¥ f&T da &1 waT]
AT T8 FH 87
(a) Nitrogen /ATggIS
(b) Hydrogen /gTggia
(c) Lithium/fafaag
(b) Helium /&faaw
RRB ALP & Tec. (10-08-18 Shift-1ll)

® FElement - Atomic Mass

® Nitrogen - 14.0067g/mol
® Hydrogen - 1.00794 g/mol
® Lithium - 6.941g/mol

® Helium - 4.002603 g/mo

12. What is the atomic number of an atom that consists of 10 protons and 11 neutrons? /39
TRHTY] T TRHTY] ShHieh T & T 10 Tiet 3R 11 e 872
(a) 1
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RRB NTPC 10.04.2016 (Shift-11l) Stage Ist

® The number of protons present in the nucleus of an element's atom is called atomic number.

® The sum of the numbers of protons and neutrons present in the nucleus of an atom is called
the mass number of that atom.

o 5 A & WA & TIAS A IuRAT WelH! H TAT T AT FHHIS Had &l

o ) wuTy] & T1fAe B HWispe Wel 3R e i TT BT TN 3T WRATY] 6 goidT= TAT HEeTdT gl

13. There are 10 protons and 17 neutrons present in the nucleus of an element. What will be its

mass number?

et d@ & T1f0® & 10 Wie 3R 17 ¢ HINE E1d &1 D! SoaHTT TeuT FuT gnir?

(a) 10

(b) 27

()7

(d) 17
RRB Group-D 01-10-2018 ( Shift-111)

® The sum of the number of protons (p) and neutrons (n) Present in the nucleus of an atom is
called mass number (A).

o O TRATY] & ATUS F Higg We (p) 3R =geiF (n) &Y T &7 THT goddTH TAT (A) FEATT 8l

® S A=p+n=10+17 =27

14. The isotopic mass of an element is 298. If there are 189 neutrons in its nucleus, what will be
its atomic number? /f&t @ &1 TERITHS good 298 8| Tfe g0d A19S T 189 g &, AT T
TRYTU] HHTH FT ENIT?

(a) 109.0

(b) 298.0

(c) 189.0

(d) 487.0

RRB Group-D 22-09-2018 (Shift-I)

® Number of protons = mass number - number of neutrons = 298 - 189 = 109

® Atomic number = number of protons = 109

15. How many neutrons are present in Protium?/difead & fdraw g4 Hi[g g1d 87
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RRB NTPC 01.02.2021 (Shift-11) Stage Ist
® Protium has no neutrons in its nucleus. It is considered the most stable isotope of
Hydrogen.
® Protium's atomic weight is 1 and its nucleus consist of only one proton.
o Tifegw & TS H I Yo &1 E1dT &1 T BRI & Tay R 3mgTeId AT SATdT 8l
o T &1 WA YR 18 3R 39S TAS & Sddl U Wl giar &

16. The most common isotopes used in a nuclear weapon are of:
AT &fIgR & IughT fhy S 9T T 31T SMETET &
(a) Uranium and Plutonium /gxfAaw 3R welffag
(b) Deuterium and Lithium /sgefam iR fafdam
(c) Uranium and Lithium/gxfFad 3R fafdog
(d) Deuterium and Plutonium /geRay 3R weif oy
RRB JE-2014

The most common isotopes in nuclear weapons are Plutonium 239 and Uranium 235

17. Isotopes are atoms that have the__________ TSR QA AT B B o __________
i ¢

(a) Same atomic number and atomic mass /THTT TRATU] TAT 3R WRUATY] Goqd T

(b) Same atomic number but different atomic mass /HHT UIHTU] SHHib wich e TIHTU] FouHT
(c) Different atomic number and atomic mass /faffis TRATY] et 3R AT gouq™

(d) Same atomic mass but different atomic number/JHTH THTU] GoOHT @fds 3TeTT- 3ol TRHTI]
AT

RRB NTPC 03.04.2021 (Shift-1) Stage Ist

® Atoms of the same element that have the same atomic number, but have different
atomic mass number; They are called isotopes. They contain the same protons in each
atom. While the number of neutrons varies.

® TS & A & WRATY] fAHT TRATU] TReT IATT Bl 8, AT TRATY] gogar TaaT e et ; 52
SMEHAET FHgT SATAT &1 I7d Tdd WA & THH Weld gid &1 Safer el & et fag-f= g 81

®  JIATERUN: BIESISH & i IrRee wifeaw (1H1) &

® Example: Hydrogen has three isotopes Protium (1H1)
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® Deuterium (1H2) and Titrium (1H3).

18. When you change the number of neutrons of an atom, its .......... changes? /s 31q fet

(a) isotopic/THATHS
(b) ion /3O
(c) charge/aTst
(d) element number /dc TaT
RRB NTPC 03.04.2016 (Shift-111) Stage Ist

® When you change the number of neutrons of an atom, its isotopic changes./Si& 3Tq f&t
TRATY] & YT+ I TAT e &, AT TSN THATNAS g&e e &

19. The chemical characteristics are similar, but the atomic mass is different known as? /AaT@f&
QAT Tu &, AfST RATY] goga e ?, 33 f5w 918 @ S=7 ST 872
(a) Isobar/3mgAER
(b) Isotopes /3rgaIca
(c) Actinides/ufdeTssa
(d) Isomers /3msamad
RRB Group-D 22-09-2018 (Shift-IIl)

When different atoms of the same element have the same atomic number or
chemical properties but different mass numbers, they are called isotopic atoms.

SIS U g dcd & fafdeeT TRATUBT AT RATI] TEAT I T fosh IO
AT B & oifehel gedAlT H&AT Aeet gicl §, ol 3¢ FAEATh TATI]
$el ST gl

20. Isobars have the same number of ...........? /3METETR H ............ T AT TAM & 87
(a) lon/3mo
(b) Nucleus /amf9®
(c) Electron/s@ae
(d) Proton/witei
RRB Group-D 25-09-2018 (Shift-1ll)
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® Atoms of different substances or elements that have the same atomic mass but have
different atomicnumbers, such elements are called Isobars.

o e ueTyf OT dd & WUTY] fHTHT AT gouHT= THTT & wfds TRATU] TRATY STeATT-3TeT &, W
ddl P ATTHTR H&T AT B

21. Atoms / molecules / ions with equal number of electrons are called....
U TRT W SATET dTel TRATU]/3TU]/ 3TTT FHEATA 2.
(a) Isotonous/3mgaIeT
(b) Isotope /3mgHEICIT
(c) Isoelectronic/3MgdIgaiag e
(d) Valence isoelectronic /d@¥ Tedgaagie
RRB NTPC Stage Ist 27.04.2016 (Shift-1)

® Atoms / molecules / ions with equal number of electrons are called isoelectronic. Atoms
/ molecules/ ions with the same number of protons are called isotopes

® T AT H FAagH aTel UIHTU]/ 3T/ T SMEHTATE D HEATA & | THTT T § Wi arat
TRYTU/ 3T0]/ 3T &Y JTSHICIT HaT STTdT &

22. What is the temperature at which the molecular motion of a gas becomes zero? /dg &I aT
aroa & 5w w & snorfas nfa o g St 82

(a) absolute scale temperature /quf 39 ST dT9HT

(b) absolute zero temperature /@R L ATIHT
(c) absolute temperature /quf dTqHT
(d)

d) none of these /378 @ ®I8 &1
RRB J.E. (14.12.2014, Yellow paper)

The temperature at which the molecular motion of a gas becomes zero is called absolute zero

temperature.
gg aTog f3T R IRg & anuTfads i ST €Y ST 8, WY =T ATTHT FHEATdT 2l

In the equation PV = nRT of ideal gas -

23. Which of the following states that the volume of a gas is inversely proportional to the
pressure of a gas?

fRufafad & & o a1 garar € & 19 &1 3mgd 1 & a1 & GepATIaTd &1dT 272
(a) Boyle's law/dTae &1 fAgw
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(b) Gay-Lussac's law/T-qfaTe &1 fAgw
(c) Charle's law /aTed &1 AW
(d) Avogadro's law/31anTigY &1 fAae

RRB-JE 30.08.2019, Ist Shift

24. An ideal gas at a temperature of 27°C is heated at a constant pressure until the volume of

this gas doubles. The final temperature of the gas will be:
27°C & ATUHH R TS 3Mesf 71T &1 AR ga1a R a9 a6 6 a1 S1d1 € 99 a6 {6 39 719 &7 3ad ggAr

T &1 SV T & Sifaw arawT g
(a) 54°C

(b) 327°C

(c) 108°C

(d) 654°C

Ans. (b): T, =27"C=273+27=300"K
T: =7
V,=Vand V,=2V

. VvV, V,
At fixed pressure, Vo T | T 'l'-
1 2
Vv, . 2V
T,=—xT, =—x300=600K
-V, \%
T> =600 -273 =327'C
T, =327°C

RRB SSE (21.12.2014, Set-07, Yellow paper)

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)

25. Which of the following rules is not related to gas? /fRufafRed & & o9 a1 faw 9 & defad 78

87?

(a) Boyle's law/dTga &1 fAad

(b) Joule's law /<[ &7 AT

(c) Avogadro's law/37aITTTgl &1 s
(d) Charles's law /a7t &7 fAad

RRB JE-2014

® Joule's Law - When electric current flows in an electric wire, heat is generated in this

wire due to the resistance of the wire from the current flow, it is called 'Joule's law'.

The Sl unit of heat (energy) is joule. While other rules are related to gas
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o I & oy - 59 fel faga ar § fagga ant yarfed gt @ Y faed o & va ¥ AR S ufRy &
HRUT T dR H ST IS gt 8, U 'S BT g7’ dga §1 ST (Fo11) B S| 518 e 81 Tafd
37 fAom g & defaq &

26. Which of the following will not diffuse? /RufaRaa & & ot ar faafia 78 gmm?
(a) Incense sticks smoke /3WRa &T 3Tt
(b) Perfume vapor /g4 arsq
(c) Smoke/gart
(d) Fenugreek powder /R2ft UI3eR
RRB Group-D 05-11-2018 ( Shift-111)

27. Which properties of gases make them portable?
it & @ & T7or 3 e T ¥
(a) diffusion/vdaR
(b) compressibility /ddifgaar
(c) size/3THR
(d) volume /3mmgd=
RRB Group-D 02-11-2018 (Shift-1)

® Gas has no fixed size and volume. Gases have high compressibility. Which makes them
portable
o N FHTHE AfFT R sk smaaT 7€ g A4t # 3= ddftsTar @t B S 3% NS T @

28. The volume of a gas is inversely proportional.
TRT T I SGhATIITAT BT &
(a) Pressure/cdra
(b) Time /&HT
(c) density/aa
(d) Mass /goaam
RRB Group-D 24-09-2018 (Shift-11)

® According to Boyle's law - "The volume of a certain volume of a gas at constant

temperature is inversely proportional to the pressure.

o IO@ & W & IgIR - "R I19aE W 9 $ va [RfYa a1 o7 3madd ea1a & YhATaTdT E1dT 8l

29. From the equation of ideal gas 4 grams of an ideal gas attains a volume of magnitude of
5.6m3at 54.6K and 2 atomospheric pressures.What will be its molecular weight?
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3rmaet T & FHIART I 4 U 31esf 1 54.6K 3R 2 AT g81@ W 5.6m3 & GRUTOT &Y ATAT UTd el &

TG JMUTAS YR T T ?
(a) 32

(b) 16

(c) 64

(d) 4

) From the equation of ideal gas
PV =nRT
_PV_ 2x56
RT 0.82x54.6
W 2x560
m  82x54.6
_ 4x82x54.6

2x560

=159
=16

30. Which of the following is ideal gas equation?
frafafad & @ o ar sesf o wfiaror 82

(@) P/VT =pR
(b) T/PV=pR
(c)PV/IT=pR
(d) PV/T = (1/p) R

Ideal gas equation is :- PV/T = pR

RRB Group-D 12-12-2018 (Shift-IIl)

ALP Stage -1l 22.01.2019 (shift - 11)

31. What is the Sl unit of radioactivity? Afsaraftfar &t S| g&1E Fur 872

(a) Becquerel /d&¥t

(b) Curie /g

(c) Faraday/3rs

(d) Rutherford/3eI®is

SI UNIT Symbol Physical quantity
Metre m Length

Kilogram kg Mass

Second S Time

Ampere A Current

Kelvin K Temperature

Mole mol Quantity of substance
Candela Cd Luminuous intenstity

RRB NTPC 13.03.2021 (Shift-11) Stage Ist
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32. Which of the following is used as 'a fissionable fuel' in a nuclear reactor?/fafafed & &
g 3uahT wraTy] Ruaer # 'favdsg Su' & wu o fasar Sirar 872
(a) U208
(b) U235
(c) Pu229
(d) Pu1is
RRB NTPC 17.02.2021 (Shift-11) Stage Ist

e Nuclear power plants use a certain type of Uranium - 235 U as fuel because its
atoms are easily split apart.

e 235 U is relatively rare at just over 7% of natural Uranium - 235 U Contains 92
protons and 143 neutrons.

o UTAIY Foll HIAF $UT & & A Teh ARIT JhR & AIH - 235U
T ITAT FIA & FAIMh FHh TRATI AT & fasmfeoid g7 S €l
o 235U Uiphideh RIAIH & 7% T $© 3TWh W IULThT Gl § - 235

U 3 929 3R 143 =gl g &

33. For which of the following fields did Madam Curie win the Nobel Prize?
Hen a3 Fofafad # 3 53 87 & faw A19d R Sfiar?
(a) Physics and Chemistry /4ifadt 3R = fagme
(b) Physics and Astronomy /%ifadt 3R @i fag=
(c) Physics and Meteorology /9ifadt sk #iaw fagm
(d) Chemistry and Biology/ama+ fagm 3k sfia fagm
RRB NTPC 22.02.2021 (Shift-1) Stage Ist

® Marie Curie, was a Polish-born French physicist, famous for her work on radioactivity
andtwice a winner of the Nobel Prize.

® She was awarded the 1903 Nobel Prize for Physics.

® She was the also winner of the 1911 Nobel prize for Chemistry.

o A o, Mifcrer g Y iR iifass fagrt off, i ¥earafiar @R orow &0 & faw ufdg off stk & ar
T RIPR HI fasrdr off|

e 3% 1903 # vifadt & fow Tiee QR & wrfad fasar mar o)

® g W fadH & fAT 1911 & e REHR Fi faorar o off|

34. Which of the following is used in the treatment of cancer? /Ffafdd & & f&ueT STMTHFR S
Iu=R B T ST 7
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a) An isotope of cobalt /®ldTee ST UH 3T

b) An isotope of iodine /3TATEN &T T AT

c) An isotope of uranium /ATH ST TS AT
)

(
(
(
(d) An isotope of copper /dis &T Ush TgHCIT

RRB NTPC 06.04.2021 (Shift-1) Stage Ist

® (obalt - 60 is used in the treatment of blood cancer. It is produced artificially in nuclear
reactors.

® (obalt-60 is a high intensity Boman ray emitter. This is the reason it is used for the
treatment of bloodcancer.The blood cancer is also called Leukemia.

® FIETee-60 BT IUTNT Ih DR & IUIR T fHaT ATAT 8| 3TST IcuTed W] Ruaest & HH0 ¥9 I faar
ST &

® FHETeT-60 U I dIgdT aTedT SIHT fFHR0T ITSTP &1 TE FRUT & I sTPT ITTNT sois TR & ST &
e fvar ST 81 o1 IR Y gt ot waT ST B

35. Which radioisotope is used for the treatment of metastatic bone cancer?/AcRefes ggt & R
& FolTol o ToT fobr XSTTSGHCTY T IUTNT fobarm SiTefT 82

(a) Carbon-14

(b)

(c) lodine-131

(d) Phosphorous-32

Strontium-89

RRB NTPC 15.02.2021 (Shift-1) Stage Ist

Isotopes Uses
e Strontium — 89 Curing of metastaic bone cancer
e |odine— 131 Thyroid cancer curing
e Phosphorous — 32 Treatment of Leukemia
e Cobalt — 60 Treatment of blood cancer

36. Which of the following is not a radioactive element? /fFufafda & & o9 a1 ¥fEaradf aa &t 872
(a) Plutonium/weifam

(b) Titanium /ey

(c) Uranium/gxfAam

(d) Thorium /Ty

a

RRB ALP & Tec. (13-08-18 Shift-11)
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® Titanium is an iron-like metal. Its relative density is 3.49 to 3.59 and the liquid is around
2000°C.
o iUy U @ig Y urg 81 ST SMUfaie v 3.49 ¥ 3.59 AUT gd @NT 2000°C Bl

37. Marie Curie received the Nobel Prize for whose discovery?
AN T B o Wi & AT TR TRIR e
(a) Uranium/gxog
(b) Plutonium /wei=ag
(c) Radium/Xfsaa
(d) Turum/gzw
RRB SSE 21.12.2014

® Marie Sklodowska Curie (Marie Curie) was a famous physicist and chemist. Mary had
discovered radium.

® She is the first scientist to be awarded the Nobel Prize in two branches of science (physics
andchemistry).

o AN TIAISIHT T (A8 ) Ue ulig wifdes A ok e off| 83 9 ¥E3um & @ & ot

o og A & &Y erRaTa (WIfAET ok T fagm) & NI R A THIRT €9 aTelt Ugel! daes &1

38. What is the chemical bond in which molecules are formed by combining atoms? /dg JATaAS
Fo 7T § e TRATuLe & T & 319] §q €2

(a) Nuclear force/TqHTU] §c1

(b) Short range force /&H g3t &T It

(c) Electrostatic force /saaeifes g

(d) Gravitational force /&N g
RRB SSE (21.12.2014, Set-08, Green paper)

® The electrostatic force that binds the atoms present in a molecule and keeps the molecule
in a special geometrical shape is called chemical bond.

® JE TiqeIRCIed S Sl 1Y) # HiG[E WRHATUS ST Sferdr & 3R 310] &1 Ue AW SuTfirdiar 3R & wadr
2, IS SET FEeATaT

39. Who invented radioactivity ? RfSmtafidr &1 snfaser feaa fear?
(a) Max Planck /8T @&

(b) James Clerk Maxwell /3RT Toid Aaade

(c) Henri Becquerel/2t S

(d) Heinrich Hertz /&R g¢at
RRB NTPC 16.04.2016 (Shift-111) Stage Ist
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® Some invisible rays are automatically released from certain elements and their
compounds.

* To g Ul B Il 3k IS WMeT F FTarferd ¥7 & e 2l

40. What is Pitchblende related to? /fusis o defad 72
(a) Radium/AX 2w

(b) Uranium /g3Aaw

(c) Thorium/«fayg

(d) Plutonium/weifRaa

RRB NTPC 05.04.2016 (Shift-11) Stage Ist

® Pitchblende is related to uranium, a radioactive uranium mineral and ore. Uranium is also

known as a radioactive element.

o fUgsis [fAuw, e YEaradt Qo wier ok sroees & defad 81 Qg o) Yeuradf aa & su
F off ST ST B

Set -4

1. The maximum number of electrons present in a shall is given by the formula-
el Yt & Hiogg gaTeit Bt STfiedT TReT T gRT 4 T -
(a) 2n’
(b) n?
(c) 2n
(d) 3m°
RRB JE CBT-Il 29-08-2019 (evening)

2. The electron distribution in a magnesium atom is—/3ffoT waTY] # saaed fadvor 8-
(a) 8, 2,2
(b) 2,8,3
(c) 2, 8,2
(d) s, 2,3
RRB JE CBT-II 31.08.2019 lInd Shift

3.If an element has atomic number 8, what will be its electronic configuration? /af¢ f&at daa &t
WRYTY] HHIS 8 & df IHPT TAag - fa-aTT T ENIT?

(a) 2, 6

(b) 2, 4,2

(c) 4, 4

(d) 4,2,2
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RRB Group-D 12-12-2018 (Shift-1)
The element with atomic number 8 is oxygen. The electronic configuration of oxygen (O) = 80

— 2, 6.

4. Which of the following is not an electronic configuration of any metal? /Fufafda d I a9 @1
el uTq &1 saeiNe fama 7€ 872
(a) 2,8,3
(b) 2,1
(c) 2,81
(d) 2, 6
RRB Group-D 08-10-2018 (Shift-Ill)

5. Which of the following is not an electronic configuration of any metal? /fAafafRed & & o 4T
Y uTq &7 saeiNe e 7€ 872

(@) 2,8,3
(b) 2,1
(c) 2,8,1
(d) 2,6

RRB Group-D 08-10-2018 (Shift-111)
(Electronic Configuration) (Element)
2.8.3 Al (z = 13) Aluminium metal
2.1 Li (z = 3) Lithium metal
2,8, 1 Na (z=11) Sodium metal
2,6 O (z = 8) Oxygen gas
H

ence the element of electronic configuration of 2, 6 is
oxygen, Oxygen is a non-metal.

6. The atom whose number of electrons in its outer orbit is complete, has a valence of ............
/T TRATY] Y FTadt Ferm & el & TeaT ol €, I WSS ............ BT &

(a) One

(b) Seven

(c) Eight

(c) Zero

RRB Group-D 18-09-2018 ( Shift-111)

The atom whose number of electrons in its outer orbit is full, has a zero valency. The ability to
combine any element is called valency.
O TRATY] 6 T8 Ha H goAael B Tt qut B 8, IS HUISdhdT L B 8| {5 oft 9
T T BT ST BT HYIABAT HgT STl 8
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7. Which of the following options is true for two elements with similar chemical properties?
[FafafRa & F o9 a1 fAeea aum Immafs 1oi are @ dal & fav o 872
(a) Elements will have the same number of valence electrons./dd! & 3o Sl & TeAT THTH
B
(b) The number of valence electrons in the elements will be different./dal # 3@ sager of
TRET 3TATT- ST Y|
(c) The atomic masses of the elements will be different. /da & TRHTI] goudT O+ gl
(d) The atomic masses of the elements will be the same. /dcdi T UIHTU] GoqHTH THTH &I

RRB Group-D 05-12-2018 (Shift-1)

8. Which element has two electrons in its outermost shell? /{5 d@ & TTT T8N BT H I TG
B 8?
(a) Potassium /areferag
(b) Lithium /fafdzeg
(c) Calcium /SfRmam
(d) Sodium /aifsaH
RRB Group-D 07-12-2018 (Shift-1)
Potassium (19)- 2,8,8,1
Sodium (11) - 2,8,1
Lithium (3) - 2,1
Calcium (20) -2,8,8,2

9. The outermost orbitals of . ... ... is fully filled.?/______T ST& ¥ gUTd: WRT &1 872

(a) Xenon/StHT

(b) Radium ARfsaH

(c) Fluorine/wAId=

(d) Sodium /aifsaH

RRB Group-D 07-12-2018 (Shift-111)

Xenon (Xe) is an inert gas of zero group element of the periodic table. Its atomic number is 54.
Its electronic configuration is 2, 8, 18, 18, 8.

Hence, the outermost shell of the xenon is completely filled.
T (Xe) 3mmad IRUft & T Y dd & U 31fosy 1T 8| SHHT RATY] FHIG 54 8| TTST goAT I
faamT 2, 8, 18, 18, 8 B
TOfY, T ST TET S8 STRUT Y aRE F WRT §aTT 2

10. In the first period, both elements have valence electrons in ..........?/92Hd 3f/ad #, G1 dadl 8§
(a) K shell
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(b) M shell
(c) N shell
(d) L shell
RRB Group-D 16-11-2018 (Shift-11)
Elements present in the first period = H and He
Number of electrons present in Hydrogen atom =1
Number of electrons present in Helium atom = 2
An atom can have a maximum of 2 electrons in its K shell. Hence, atoms of both elements of the
first period have K shell electrons
Y 3Tad § IuRAd dd = H 3R He
ETESIo WA § IURAd Sedgi-l ol TRedT = 1
Biferad quTe] § IufAT Saiagi-l i TAT = 2
T WRATY] & K 1T H 1fAedd 2 saiae & T&d &1 Uiy, e 3iad & 2l dedl & warupait # K @rer

11. An element with atomic number 17 will have the same characteristics as the element of which
atomic number given below:/TRHT] TReUT 17 dTe ded H =1 fdT 77T TRATY] TRAT GTat ed & THA 10T
B
(a) 33
(b) 34
(c)18
(d) 35
RRB Group-D 16-10-2018 (Shift-Ill)
® Halogen element with atomic number 35 is the element of the 17th group i.e. electronic
configuration of element 35Br-1s2, 2s2, 2p6 , 3s2
® | 3ps, 3d10, 4s2, 4p5
® And electronic configuration of element with atomic number 17=17(Cl)=1s2, 2s2, 2p6, 3s2, 3p5
is.

® Both elements will have the same characteristics as they belong to the same group.

12. The outermost shell of .......... contains 1 to 3 electrons. /.......... AT TN HITA1Y 3
EGEHERIOR]

(a) Non-metal /3r41q

(b) Metal /41g

(c) Halogen /&atar

(d) Metalloid /AcIgs
RRB Group-D 11-10-2018 (Shift-11)
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® Metals are the elements that make cation easily and form metallic bonds with the atoms of
metals. Metals are good conductors of heat and electricity. The outer orbit of the metal has
1to 3 electrons.

® U dcd g ol AT J YT T4 & 3R argaft & RT3t & ATY UTfcddd §47 94T 8 | €18 ST
3R faefd & gares gt €1 aTg HT e FeMH 1 A 3 TAagH e1d &

RRB Group-D 28-09-2018 (Shift-1)
® Arsenic (As) and Bismuth (Bi) in their outermost orbital have the same number of electrons,
as they are both members of the same group with the same number of electrons in their

outermost shell (5)
o IR (Tuw) 3R foay (F1ar) & TaH STE HeT H TaagH1 $I Tl TH &, aifd d gl T &
g & T § 3R 378 T 918 DL (5) A geiaei-T &I TeaT 9 2.

14......... element has three orbitals with 8 electrons in its outer cell.

........ Ted &Y T8 PIABT T 8 TG & ATT 19 Had &l

RRB Group-D 26-09-2018 (Shift-1)
15. In non-metals, usually in the outermost orbit has ........... electrons. /TR-41gaff &, SMHAR W

(@)1,20r3

(b) 5,6, 70r8

(c) 8,90r10

(d) 10 or 18

RRB ALP & Tec. (29-08-18 Shift-1)

® FElements that accept electrons are called nonmetals, they take electrons and form anions.
Non-metals usually have 4 to 8 electrons on their outermost shell (orbit) while metals have
1to 3 electrons on their outer shell (orbit).
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® 3 dcd S ST TS TR &, 3TUT FEATd &, d SATEIT UgUT R & 3R FOMmaT §91a & R-ergait &
FTET BIT (FET) T AR W 4 T 8 TG E1d & SIaTh Y31 & ST HILT (FH&T) W 1 T 3 g
g &

16. Which of the following elements has a total of 3 shells and 8 electrons in the outer orbit?
[Fafafaa & F &g aa & 9160 Fam T T 3 HIT 3R 8 gaagT 872

(a) S

(b) AL

(c) P

(d) Ar

RRB ALP & Tec. (20-08-18 Shift-1)
Ans: (d) (S= 1s* 2s
the outer shell)
AL = 15" 25" 2p° 3s° 3p' = 2, 8, 3 (3 electrons in the
outer shell)
isAr = 1s? 2s* 2p® 35 3p® = 2, 8, 8 (8 electrons in the
outer shell)
1sP = 1s% 2s° Zp" 3s” 3p5 = 2. 8,5 (5 electrons in the
outer shell)
Therefore, it is clear that the outer shell of ;3Ar has 8
electrons in outer shell and 3 shells.

S 3:p4 =2.8.6 (6 electrons in

17. If the electronic configuration of elements A and B are 1s2, 2s2, 2p6, 3s1 and 1s2, 2s2, 2p6,
3s2, 3p4 so compound produced by combining these elements is.

(a) ABs (Sodium)

(b) AB, (Sulphur)

(c) A;B (Sodium sulphide)

(d) AB

RRB ALP & Tec. (21-08-18 Shift-Ill)
® |f the electronic configuration of elements A and B are 1s2, 2s2, 2p6, 3s1, and 1s2, 252,
2p6, 3s2, 3p4, Then the compound formed by combining these elements would be A2B
(sodium sulphide).
® Given electronic configuration of A is sodium with atomic number 11 valency +1
® Given electronic configuration of B is Sulphur with atomic number 16 have valency -2.

® So, the possible compound is =A2B
18. How many valence electrons does an oxygen atom have? /U& 3T GRATY] # fha

HUISIHAT goidg &ld 82
(a) 2
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RRB NTPC Stage Ist 28.04.2016 ( Shift-111)
® Atomic number of oxygen = 8 Electronic configuration = 2, 6 2 electrons will be required to
complete the octave of oxygen. Hence, it will have 2 valence electrons.
®  JIITRHIS BT TRATY] HHIP = 8 TaidgiHd (AU = 2, 6 AT & TP B A A & fAT 2 TaAdg!
& aTFHAT g | ST, TTH 2 AT TG BT

19. Of the elements given below. . . . ... is the smallest in size? /A fRumudar d 4. ... ...
IHR # A BIeT 872

(a) Na”

(b) Mg*

(c) A"

(d) ALl these options

RRB Group-D 22-09-2018 (Shift-I)
Ans : (0) Na">Mg* " > Al
AP’" is the smallest in size.

Because

Number of protons in Na ~ = 11 and electrons = 10
Number of protons in Mg?” = 12 and electrons = 10
Number of protons in A’ "= 13 and electrons = 10

Since the number of electrons i1s the same. Therefore.
the more the protons, the more the electric force will be
in that atom and the smaller the size of that atom.

20. ldentify the element with electronic configuration 2,6 -
goaeie [T 2,6 Tl dcd & UgdT™
(a) Nitrogen /ATggIS
(b) Oxygen /3TTeRiTSI=
(c) Chlorine /a0
(d) Bromine /&=

RRB Group-D 10-10-2018 (Shift-Ill)
Ans : (b) The atomic number of oxygen is 8, and its
electronic configuration will be 1s?, 2s*, 2p*. Hence O
(8)=2,6
The atomic number of CI (chlorine) is = 17 (.,2 8 7) and
the electronic configuration will be 1s°, 2s°, 2p°, 35,

3p’. Atomic number of mtrogcn = TN (2,5) and
electronic configuration will be 1s?, 2s*, 2p°.
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21. Which of the following is an electronic configuration of metal? /fRafafad & @ 319 a1 arg &1
AT T 27
(a) 2, 8,3
(b) 2,8,6
(c)2,8, 4
(d)2,8,5
RRB Group-D 10-10-2018 (Shift-1)
® |f more than 4 or 4 electrons are found in the outermost shell of an element, then it is non-
metal or metalloid. If the outermost shell has less than 4 electrons, they are called metals
o e &l d@ & TaT I8N ST T 4 TT 4 T fUS gAag{ U T4 &, d7 98 3Te1g I71 3UYTq 81 ufe Tad
STET DI H 4 T HH Sidgi 81, Y 3¢ YT HeT SITdT &

22. If an element has an electronic configuration of 2, 8, 7, what will be its valency? /af¢ foat da

FT AT AT 2, 8, 7 & Y 3T UISTHAT T gNIT?

(a) 2

(b) 1

()7

(d) 8

RRB Group-D 04-10-2018 (Shift-lI

® The atom of any element in its outermost orbit, to complete eight electrons or to accept as
many electrons or share as many electrons, is called valency of that element. The electronic
configuration of a given element is 2, 8, 7. 1 electron is required to complete its outermost
shell, so the valency of this element is 1.

o Hl ff dcd & WHTY] &1 ST TG 1A H&T W 3116 Farag i YUl AT T 34 &1 Faag ™ WHR AT
T 30 &) ST TTeHT HRAT I ded T HUISTDAT Deeld! g1 fred) fau U dd &7 gaaeie = 2,
8, 7 &1 TP STEIAH I FHI T IR & fAT 1 gAdei &Y MaTHaT gl €, STTAT 37 ded Y TUISThdT
18l

23. The electronic configuration of an element is 2, 8, 5, then find its number of protons ?/f&=

T &7 sodel=e AT 2, 8, 5 & df 3P UIel-l & TeT JATd Hifa?

(a) 8

(b) 15

(c) 2

(d) s
RRB Group-D 05-10-2018 (Shift-11)

The electronic configuration of Phosphorus is 2, 8, 5. The number of electrons in Phosphorus is

15. The number of electrons and the number of protons in an element are the same. Thus

Phosphorus has a total of 15 protons
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HRPRYT T gAaei-e A= 2, 8, 5 8| BRBRT H siaei-] ol TJAT 15 81 TP ded H SAaeiA] o) TaT 3R
e H T TUH 8| 3T UHR BRGRY H Hol 15 WelT aa &

24. Which of the following elements has electronic configuration 2, 8, 3?
Rufafed # @ fog aa o1 saaeiRe A= 2, 8, 3 87
(a) Magnesium/&ififaag
(b) Aluminium /Tegfafags
(c) Argon /3miH
(d) Sodium /aifsaH
RRB Group-D 03-10-2018 (Shift-1)
RRB Group-D 02-11-2018 (Shift-111)
® Aluminium is a metal element whose atomic number is 13. The electronic configuration of
aluminium is as follows -
o UcgHIMTH Teh UTq dcd & TSIHeT WATY] ShHI 13 8| TogHITTH &1 Seiagi-e a2l 53 UHR € -13AL
= 1s2, 2s2, 2p6, 352, 3plor 2, 8, 3.

25. What is the correct distribution of electrons in an aluminium atom ?
TogHifaay waATe] # sl & TEY faaRur w87
(a) 2, 8, 2
(b) 2, 8,3
(c) 8,23
(d) 2,3, 8
RRB JE 25.05.2019 (Shift-1ll)

26. The electronic configuration of an element is - 1s2, 2s2 2p6, 3s2, 3p3, . What will be the
atomic number of the element just below that element in the periodic table?

et I o7 soiaeie fa=ama & - 152, 252 2ps6, 352, 3p3,| 3Mad IR # 3T dd & SId I aTet dcd &7
TRYTY] HHTH FUT EHIT?

(a) 39

RRB Group-D 31-10-2018 (Shift-11)
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Ans : (b) The electronic configuration of the

Phosphoru% (P) ngmcnt m the modern periodic table is

sP = 1%, 587, 5p°, 3s%, sp’. According to the question,

Arsamc element is prwnnt just below the Phosphorus

element in the periodic tablu lts electronic

Lonnguratnon will be 33As = 5%, 557, 5p°, 387, 3p°, 3d'"’,
, 4p”, which has an atomic numbgr of 33

27. The electronic configuration of an element is 2, 8, 4. The name of the element is /f&¥t T &7
oaele [T 2, 8, 4 8l A HTAH &

(a) Potassium /areferag

(b) Silicon /fafasia

(c) Magnesium/&difram

(d) Sodium /aifsaH

RRB Group-D 12-12-2018 (Shift-1ll)

The atomic number of a silicon (Si) element is 14 and its electronic configuration is 1s2, 2s2, 2ps6,
3s2,3p20r28,4

s RAfdsdT (Si) dc S WRATY] IReAT 14 § 3R TAPT SAdgiHD AU 152, 252, 2p6, 352, 3p2 AT 2, 8, 4 &

28. The electronic configuration of an element is 2, 8, 8, 1. Name the element. /f&3! da@ &7

gageie faaTg 2, 8, 8, 1 &1 7@ &I ATH §dTsd|

(a) Magnesium /&g

(b) Potassium /arefms

(c) Radon Rsi9

(d) Sodium /aifsaH

RRB Group-D 15-11-2018 (Shift-Ill)

® Potassium is a chemical element. The electronic configuration of the Potassium (K19)
element is 2, 8, 8, 1. It is the element of the first group of sblocks of the periodic table. It is
so soft at ordinary temperature that it can be cut with a knife.

o TRfIUH U IATaRA® dad &1 MefATw (K19) dc o7 saaeiHe =i 2, 8, 8, 1 &1 Ug 3dd ARul & s
AT & Ugel THE BT dcd & | ATH dTIH W Tg $9T RA &1aT & & 30 I F oY ret SI1 dHhdT1 &

29. The electronic configuration of an element is 2, 8, 8. It belongs to group- /U& dd &T
TAaeNS fa=m 2, 8, 8 81 U8 THg ¥ Tafaq 2-
(a) 16
(b) 8
(c) 18
(d) 17
R.R.B. JE. Stage - 1l 30-08-2019 (Shift - 11l)
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® |f element has electronic configuration 2, 8, 8 having 8 electrons in outermost shell, then it

must be a part of inert gases or group 18. /af¢ d@ &I TAagHd AU 2, 8, 8 & 3R TaH FTEA
HIT T 8 TAGTH &, Al TE 3TfehT AT U7 TYE 18 T faxdr g1 I

electron(s) in its outermost shell. /Eifead TRATY] & TG T1EAT DI o

(b) Three
(c) Four
(d) Two
RRB JE CBT-Il 28-08-2019 (morning)
Helium has two electrons in its outermost shell. /&faa® & TEY 9163 HIA T & sATT &1 &
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